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Do not open this Test Booklet until you are asked to do so.
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Read carefully the Instructions on the Back Cover of this Test Booklet.
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This Booklet contains
48 pages including
Rough Page.
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(a) STUTT A & Yk fawa # 35 (Udw ) (Uo7 &1
¥ 35, 51 9@ 85, 101 ¥ 135 WA 151 & 185)
T B |t wea erfred

(b) STTHET B & Yk fawar 9 15 (UEE) (I3 HE&A 36
¥ 50, 86 ¥ 100, 136 § 150 TF 186 & 200) Y ¥
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Important Instructions :

1. The Answer Sheet is inside this Test Booklet. When

you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on ORIGINAL Copy
carefully with blue/black ball point pen only.

2. The test is of 3 hours 20 minutes duration and the Test Booklet
contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry
and Biology (Botany and Zoology). 50 questions in
each subject are divided into two Sections (A and B)
as per details given below :

(a) Section A shall consist of 35 (Thirty-five) Questions
in each subject (Question Nos — 1 to 35,
51 to 85, 101 to 135 and 151 to 185). All questions
are compulsory.

(b) Section B shall consist of 15 (Fifteen) questions in

each subject (Question Nos — 36 to 50, 86 to 100, 136
to 150 and 186 to 200). In Section B, a candidate
needs to attempt any 10 (Ten) questions out of 15
(Fifteen) in each subject.
Candidates are advised to read all 15 questions
in each subject of Section B before they start
attempting the question paper. In the event of a
candidate attempting more than ten questions, the
first ten questions answered by the candidate
shall be evaluated.

3. Each question carries 4 marks. For each correct response,
the candidate will get 4 marks. For each incorrect
response, one mark will be deducted from the total
scores. The maximum marks are 720.

4. Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses on Answer
Sheet.

5. Rough work is to be done in the space provided for this
purpose in the Test Booklet only.
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In case of any ambiguity in translation of any question. English version shall be treated as final.
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Physics : Section-A (Q. No. 1 to 35) |

N p 1

In an ideal transformer, the turns ratio is —— = 5
S

The ratio V: Vp is equal to (the symbols carry

their usual meaning) :

(1) 2:1 2) 1:1

(3) 1:4 4) 1:2

A tightly wound 100 turns coil of radius
10 cm carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take

permeability of free space as 47 %10~ SI units):
(1) 44T 2) 44mT
(3) 44T (4) 44 mT

In a uniform magnetic field of 0.049 T, a magnetic
needle performs 20 complete oscillations in
5 seconds as shown. The moment of inertia of the
needle is 9.8 x 1076 kg m?. If the magnitude of
magnetic moment of the needle is x x 10~5 Am?;
then the value of “x’ is :

() 50n2
4) 572

(D
(3) 1280 12

A thin flat circular disc of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm~!, then the excess force
required to take it away from the surface is :

(1) 198N (2) 1.98 mN

(3) 99N (4) 19.8 mN

A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown, which one of
the following options is correct (P and Q are any
highest and lowest points on the wheel,
respectively)?

P

\l<

Q
(1) Point P moves faster than point Q.
(2) Both the points P and Q move with equal
speed.
(3) Point P has zero speed.
(4) Point P moves slower than point Q.
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vafda et yge fopan T 3)
(1) 2:1 2) 1:1
(3) 1:4 4) 1:2

10 E e & dwEs Tt 100 BT arelt T Hsar
# yarted 91 7 A $ 1Sl & b5 U JEHI & B

afvamr ¥ (R 3, Frafa @ grassfierar = 4nx 1077
Sl =) :
(1) 44T
(3) 44T

0.049 T % U% THEAH TEahid & U TEHd G5
5 ¥ehs H 20 T IO ! & (FIAgan) 198 & ssd
amgef 9.8 x 1070 kg m? ¥ 1 afs g &1 g et

HT O x % 107> Am2 & al “x’ &1 94 &

(2) 44mT
(4) 44mT

() 502
4) 5n°

(1
(3) 128072
4.5 THT 141 &l Ueh a%h q9ae gleblX aebal bl

THT Bl T I 9N E @ faan T 2 1 At g b s
@ 0.07 Nm~! 21 aF 39! arit &1 T & ST B

% foru emasae enftrey s« &
(1) 198N (2) 1.98mN
(3) 99N (4) 19.8 mN

T JES! w1 Giedl fos gER Ue §9ad a8% UX
o @1 ¢ | afs g 715 faen & gae! W@ o v &l
qr Frrfaiad & & @i @1 faee @8l &: (I T P 3l
O AT Bl ITaaH Ud JAaH 95 2 1)

(1) fog P fag O & I 7If & 8 |

(2) < feg P T QT T | A B B |
(3) fog P o S

(4) fg P feg OF o wifd war 2
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If x =5sin (nt + gj m represents the motion of a

particle executing simple harmonic motion, the
amplitude and time period of motion, respectively,
are :

(I) 5m,2s
3) 5m,1s

2) Sem,1s
4) Scm,2s

A bob is whirled in a horizontal plane by means
of a string with an initial speed of ® rpm. The
tension in the string is 7. If speed becomes 2 ®
while keeping the same radius, the tension in the
string becomes :
(1) 41 @ L
4
(3) 2T @ T

A wire of length ‘/” and resistance 100 Q is
divided into 10 equal parts. The first 5 parts are
connected in series while the next 5 parts are
connected in parallel. The two combinations are
again connected in series. The resistance of this
final combination is:

(1) 520
(3) 600

(2) 550
“4) 260

A logic circuit provides the output Y as per the
following truth table :

- o = ol

o = o —|~

The expression for the output Yis :
(1) 4B+4 2 B
G) B (4) AB+4

The quantities which have the same dimensions
as those of solid angle are :

(1) stress and angle

(2) strain and arc

(3) angular speed and stress

(4) strain and angle
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iy x:SSin(nt+§jm T ST T B 5T Th

YT P T BT TSI BT <, Tl BT ST T STt
BT HHT:
(1) Sm,2s
3) 5S5m,1s

(2) Scem,1s
4) Scm,2s

Teh Teleh I ST A &fcrst ad § 36 YT AT STl &
fop saa gty T © rpm ¥ 1S A o TR 1A
o & 99 T@HT I 20 & WA A Al S ®
CRIERIRIE

(1) 4T @ L

(3) 2T 4 T
I @rg qUr 100 Q e % Ueh aiX @l 10 9Uay
i  feranfera fepam wem ¥ 1w S 9T &y Srofisew o
TqAT ST 5 9T BT THFAK B SIST T4 § | g
T B g ATHA & ST 1 51 39 St e
BT qaAY &
(1) 520

(3) 60Q

2) 550
4) 26Q

Frefaiad g el & FTER UH @iisd 9y
forta ¥ e & &

- o = ol
o = o —=|~

i ¥ o forg =it @
(1) 4B+4
3 B

2 B
4) AB+4

T T ! fomTd o9 Hior & 91 &:
(1) wiqas qar @i

(2) fagpfa qar am

(3) ®viT T quT widad

(4) fagpfa o B
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A thin spherical shell is charged by some source.
The potential difference between the two points
C and P (in V) shown in the figure is:

(Take —9x10° SI units)

47 €9

(1) 1x10° (2) 0.5x10°
(3) zero 4) 3x10°
Match List-I with List-I1.
List-1 List-I1
(Material) (Susceptibility (7))
Diamagnetic L. x=0
Ferromagnetic I 0>y>-1
Paramagnetic L.y >>1

IV. 0<y <€ (asmall
positive number)
Choose the correct answer from the options given

below:

Non-magnetic

(1) A-Il, B-I, C-1I, D-1V
(2) A-IL B-II, C-1, D-1V
(3) A-1V, B-II, C-1I, D-1
(4) A-IL, B-III, C-1V, D-1
Match List I with List II.

List I List IT
(Spectral Lines of (Wavelengths (nm))
Hydrogen for
transitions from)

A. mpy=3tonm=2 I. 4102
B. my=4ton =2 1. 434.1
C. m=5tonm=2 1. 656.3
D. ny=6ton =2 IV. 486.1

Choose the correct answer from the options given
below :

(1) A-III, B-1V, C-II, D-1

(2) A-IV, B-III, C-I, D-II

(3) A-L B-IL, C-III, D-IV

(4) A-IL B-L, C-1V, D-III
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Teh Tl g BigT fhal i &1 siafya feban
T 1afiia fas % s &1 fagelt C 9 P o e fawarx
(dwe ) #:

(Rt s —

=9x10° SI == #)

4r €

(1) 1x103 (2) 0.5x10°
) = (4) 3x10
Al 1 o1 gt 1§ freae st
Tl T I
(wered) (graebra i)
A. glag=e™ L x=0
B. i gEaE I 0>y>-1
C. sg=a™ L g >>1
D. s/g=@®a IV. 0<y <€ (zsgs
YHTHD &)
Hrd g T el @ @& 3T g
(1) A-IL, B-1, C-III, D-IV
(2) A-IL B-11, C-I, D-1V
(3) A-1V, B-II, C-II, D-I
4) A-I, B-IL, C-1V, D-1
T Lot ga 11§ e shifsrg:

T 1 T I
(Frfefaa &1 % (7@ (nm))
THAON & ToIQ BN
1 Al )

A my=3dn=2 I 4102
B. my=43dn=2 . 434.1
C. m=53an=2 III. 656.3
D. nmy=6an=2 IV. 486.1

I faw o fasmedt & @& sax g
(1) A-II, B-1V, C-I1, D-1
(2) A-IV, B-IIL, C-I, D-II
(3) A-L B-II, C-III, D-IV
(4) AL, B-I, C-IV, D-III
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Given below are two statements :

Statement I : Atoms are electrically neutral as

they contain equal number of positive and

negative charges.

Statement II : Atoms of each element are stable

and emit their characteristic spectrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is

correct.

(4) Both Statement I and Statement Il are

correct.

An unpolarised light beam strikes a glass surface

at Brewster’s angle. Then

(1) the refracted light will be completely
polarised.

(2) both the reflected and refracted light will be
completely polarised.

(3) the reflected light will be completely

polarised but the refracted light will be

partially polarised.

(4) thereflected light will be partially polarised.

1
The graph which shows the variation of (?j

and its kinetic energy, £ is (where ] is de Broglie
wavelength of a free particle) :

L L
(1) 32 \ 2) 32
5 5 5 B
L 1
G) 22 ) 5
X E N E

A particle moving with uniform speed in a circular
path maintains :

(1) constant acceleration.

(2) constant velocity but varying acceleration.
(3) varying velocity and varying acceleration.
(4) constant velocity.
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e 31 w9 few U §:

F 1 : T YA TN A & Hh 3T 9
YT § €T qT O SISl &l ¢ |

F I : T&% @ b ITAY] TS BId & Q1 37U
SATHeTEiTh Weagd ST B & |

U BT H SMER X, A fau 1 famedt § 9
e Sfaa A g

(1) w19 %A 11 Tad & |

(2) ®uT 198 5 Uiy HYA 1 Tad 2 |

(3) &A1 7Tad & uig Bu 11 9l 31

(4) a9 a1 I @2 )

Teh STYIId WebleT Yo fohell hra &l Tas U ST Bl

U ZHAAT &1

(1) sTuafaa weTst guia: gfaa srm|

(2) < gRrEfid 9 safda geret gofa: gfaa 2

(3) UrEfdd webteT quia: gfad utg staafid Tebist
aTifres gferd 2

(4) uxafda wereT sTifdte gfaa srm

1
Wﬁ%ﬁww[;}awwﬁnﬁawﬁ@

% AR I STaT & (STeT | Web T YT bl SF Sl
qaree %) ¢

L 1
1 32 \ 2) 32
5 5 P E
L 1
3) 2 ) 33
T E A E

e JATHIX T4 YT THEHT T & TH Teh BT ST
EATS -

(1) fraa @

(2) T o utg uiEdt @

(3) uftadt 9 wd uiiadl @

(4) forma am
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If c is the velocity of light in free space, the correct
statements about photon among the following
are :

The energy of a photon is £ =hv.

The velocity of a photon is c¢.

The momentum of a photon, p = @
c

o0 wp

In a photon-electron collision, both total
energy and total momentum are conserved.
E. Photon possesses positive charge.

Choose the correct answer from the options given
below :

(1) A,B,CandD only

(2) A,CandD only

(3) A,B,DandE only

(4) AandBonly

+

x4,y 7P sp¢ 50
In the nuclear emission stated above, the mass
number and atomic number of the product QO
respectively, are :
(1) 286, 80

(3) 286, 81

(2) 288,82
(4) 280, 81

In the following circuit, the equivalent capacitance
between terminal A4 and terminal B is :

2 uF 2uF
L 1]
Ao— +2uF —— B
il i
2uF 2 uF
(1) 1pF 2) 0.5uF
(3) 4uF 4) 2uF

The terminal voltage of the battery, whose emf is
10V and internal resistance 1 Q, when connected

through an external resistance of 4 QO as shown
in the figure is :

,49
/N A4
C L 19,
— — "
v o,
(1) "6V Q) 8V
3) 10V 4) 4v

If the monochromatic source in Young’s double

slit experiment is replaced by white light, then

(1) there will be a central dark fringe surrounded
by a few coloured fringes.

(2) there will be a central bright white fringe
surrounded by a few coloured fringes.

(3) all bright fringes will be of equal width.

(4) interference pattern will disappear.
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gig gl STBIT | Tb1eT B AT ¢ 8, BT & g
fFrrfafaa & @@t Ho @

BIH B Fet E=hv ¥

B BT ¢ ¥l

i s
C

BIHA-gaazM €93 ¥, Il $A Holl d HA FT
Tfd & 2

HIEH UT G STAST el & |
ﬁwi%fﬁgﬂﬁmﬁq‘f@faé’rwgﬁq

(1) ®a@ A,B,CaD

) %b—cWrrA,CaD

(3) wa@ A,B,DTE

(4) ®a@ ATB

oS 0 wp

e+

x5y sz P _sp_¢ 50
U BT ST o T SeTE O i FHHH &
T YA HHID HA: &
(1) 286, 80
(3) 286, 81

(2) 288,82
(4) 280, 81

frrtaRaq afay & 2fiFa 4 9 <fF@ B & 99 g
& @

2uF 2pF
LU J_ 1]
A o— 2uF —oB
it T I
2uF 2uF
(1) 1pF (2) 0.5pF
() 4pF (4) 2pF

1Q 3rdies wierrer aer 10V fa.ar. sa & 928 @
R diees @1 & 919 39 fad oA 4 Q % S
Fiaay § WIeT T §:

4Q
o Vv
1 1Q
] A
v,
(1) 6V ) 8V
3) 10V 4) 4V

gf 4 fz 7l wam & uaavil | & 3d g @
gfafda & fean @ e arn:

(1) Po i Bbs & firdl wa srdifa i s g1
(2) B A fhstl & frlt we R B B s
(3) ud diftq ks gH™ dreTS BT B

(4) =AfTHIT UTET G B
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A horizontal force 10 N is applied to a block 4 as
shown in figure. The mass of blocks 4 and B are
2 kg and 3 kg, respectively. The blocks slide over
a frictionless surface. The force exerted by block
A on block Bis :

F=10N 3/13;g
2kg
777777 777777 777777777
(1) 4N 2) 6N
3) 10N (4) zero

A thermodynamic system is taken through the
cycle abceda. The work done by the gas along the
path bc is :

P A

300 kPaf - - - &— ¢
100 kPaf - - - 47— 1b
100cm? 400 cm?
r—>
(1) 30J (2) -90J
3) -60J (4) zero

The maximum elongation of a steel wire of 1 m
length if the elastic limit of steel and its Young’s
modulus, respectively, are 8 x 108 N m~2 and
2x 100 Nm=2, is:
(1) 0.4 mm

3) 8mm

(2) 40 mm
(4) 4mm

The output (Y) of the given logic gate is similar
to the output of an/a :

A—1 ]
B

(1) NOR gate
(3) AND gate

(2) OR gate
(4) NAND gate

Two bodies A and B of same mass undergo
completely inelastic one dimensional collision.
The body A moves with velocity v; while body B
is at rest before collision. The velocity of the
system after collision is v,. The ratio v; : v, is :
(1) 2:1 2) 4:1

3) 14 4 1:2
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yefiia fast § us edr A X 10 N &fast 9@ amifua
fopan SITaT 81 e 4 T B % A %A 2 feur @
3 fopum ¥ 1 ek uH TRfed d@ & SHuX fawed ¥
TeHT A ETX T[T B X TN AT S &

F=10N 3/13;g
2 kg
777 7777777 77777
(1) 4N (2) 6N
(3) 10N 4) =

Ueh ST b & aebid WhH abeda ¥ & ST
ST &1 be 99 % et 19 R $d B &

i’/\
300 kPa} - - - &< ¢
100 kPaf - - - 7—> 1b
00cad  400cm®”
y—>
(1) 30J 2) —90J
3) -60J 4 =

1 Y TS % EId &b AT Dbl TN I TRl €T qe
3OHT TATIAT T HAM: 8 x 108 N m~2 qam
2x 101 Nm—2% qf 38 a & @ ¥ gfg &

(1) 0.4 mm (2) 40 mm

(3) 8mm (4) 4mm

& T @it afvay @1 fofa (1) feas frfa &
g &

A— ]

! Y
B
(1) NOR e (2) OR7E
(3) AND e (4) NAND e

T FEHE & o IS A 9 B qUiqdn sueERy U6
ferfia Tz @t ¥ 1 Hag 9 gd fos A 3 v, & i
HAT & STafe fvs B fawm & §1 €9z & usam em
B AT v, TSIV, @ v,y &

(1) 2:1 (2) 4:1

(3) 1:4 4) 12
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Consider the following statements A and B and
identify the correct answer :

A. For a solar-cell, the I-V characteristics lies
in the IV quadrant of the given graph.

B. In a reverse biased pn junction diode, the
current measured in (uA4), is due to majority
charge carriers.

(1) A s incorrect but B is correct.

(2) Both A and B are correct.

(3) Both A and B are incorrect.

(4) A is correct but B is incorrect.

I e,

Solenoid - 1 Solenoid - 2

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in solenoid-2, respectively, are through the
directions:

(1) BAand CD
(3) BAand DC

(2) ABand CD
(4) ABand DC

Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R.

Assertion A : The potential (V) atany axial point,
at 2 m distance(r) from the centre of the dipole

%
of dipole moment vector p of magnitude,

4%x100Cm,is +9x10° V.

1 9
(Take 7~ <o =9x10" g1 units)
2P
Reason R : V== , where 7 is the
dnegr

distance of any axial point, situated at 2 m from

the centre of the dipole.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both A and R are true and R is NOT the
correct explanation of A.

(2) A strue but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct
explanation of A.
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frfatad g A 9 B &1 @t 9ol sax g

A. TR A % fog [-V sifyeetomes 63 ™ 76 %
=Y Tgaie 7 8§

B. Sohd STHAd pn SibyH SIS § O SgEEAS
STTAIYT aATER B BT () o H19Y S 7 |

(1) Avwd ® ud Badi gl

(2) I AaBEHE]

(3) =i A9 B Tq |

(4) A9 udBiad gl

—

MEHT

I
gfTfereT- 1 -2
U o3 # U A9 B gEe qienas-1 3
giTfeTeT—2 @l S i & @ & | ufkeTersr—1 &
Ofd G & feen qur aftataer-2 ¥ Ui e @
fegm swer: fEgmen # &:
(1) BAwE CD

(3) BAwE DC

(2) ABTECD
(4) ABwd DC

< 31 e o T ¥ U bl At A qen ga
&1 R & fafea fepan T 51
AF A 2 4 x 1076 C m ufmmn, faga smeef afesr

P Fasg 35 3 & 2 Wt () R el g AT
fawa +9x103 1 ¥1

L —9x10” SI 71eh)
0

WR:V:iLzaﬁn%ga%s%ﬁ;%zm
dneyr

%l g8 1 Rura oref fag AT 0 2

UG HUAT &b SER UT, 1 57 T frepedt & T2

ST g

(1) I ATRTEE quT R, A &l &1 =gmean 78 7

(2) A G Uty R T §1

(3) A7ed s Ut R @7

(4) TMMATREE T quT R, A ol 9 e £
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At any instant of time ¢, the displacement of any
particle is given by 27— 1 (SI unit) under the
influence of force of 5N. The value of
instantaneous power is (in SI unit):

(1 5 @ 7

3) 6 % 10

In a vernier calipers, (N + 1) divisions of vernier
scale coincide with N divisions of main scale. If
1 MSD represents 0.1 mm, the vernier constant
(incm) is :

1

) 100(N +1)

(2) 100N

3) 10NV+1) “4) TON

The moment of inertia of a thin rod about an axis
passing through its mid point and perpendicular
to the rod is 2400 g cm?. The length of the 400 g
rod is nearly :
(I) 17.5cm
(3) 72.0cm

(2) 20.7cm
4) 85cm

A light ray enters through a right angled prism at
point P with the angle of incidence 30° as shown
in figure. It travels through the prism parallel to
its base BC and emerges along the face AC. The
refractive index of the prism is:

(M

3)

N|§‘ N|&‘

The mass of a planet is % th that of the earth and

its diameter is half that of the earth. The
acceleration due to gravity on that planet is :

(1) 9.8ms2 (2) 49ms2

(3) 3.92ms? (4) 19.6ms2
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TepEY 797 /9T SN 9@ & ST fehal U ol e
2t — 1 (ST =i ) e wan & | exfvres ifert a6t &1 (S
= ®) 3

(H 5 2) 7

3) 6 @ 10

Ueh qMET halad & af+a 9= & (N + 1) @l &
A & T & N @l % A 6 90K ¢ 1 IS &
e % U @ &1 AF 0.1 frdt 8 ar affr e
(@ ) #:

1

M) 100(N +1)

(2) 100N

3 10WN+1D 4) ™

e Iadl BS HI 369% AL (95 9 oA Il BS &
TRIEq 38T o ufka: Tee el 2400 g cm? 1400 g
B B B T W &

(1) 17.5cm (2) 20.7cm

(3) 72.0cm 4) 85cm

T ehI9T feer gHaviE s % fog P WX 30° &%
ST BIVT T T BTl & it fop oy & gorfan man 21
g o9 & ena BC % gHraR sl AC a8 &
STAfesT UG Bl & | B T sTaadi o

M

3)

pl& |5

@%WWQ@%WW%?JTW%H&T
THE! ATE YA % ATE &1 39T ¢ 1 39 T8 U [
RS

(1) 9.8ms2 (2) 49ms2

(3) 3.92ms2 (4) 19.6ms>2
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Physics : Section-B (Q. No. 36 to 50) |
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37

38

39

(M

3)

The property which is not of an electromagnetic
wave travelling in free space is that :
(1) the energy density in electric field is equal
to energy density in magnetic field.
1

(2) they travel with a speed equal to \/7 .

)

Ho €0
they originate from charges moving with
uniform speed.
they are transverse in nature.

4
The velocity (v) — time (¢) plot of the motion of a
body is shown below :

o—>v(ms™)

t(s) —

The acceleration (a) — time (7) graph that best suits
this motion is :

~>a(ms’2)
>a(ms?)

t (S) — t()>

rd

sa@ms?)
>ams?)

t(s)—

0 t(s)~>

A metallic bar of Young’s modulus,
0.5 x 101N m~2 and coefficient of linear thermal
expansion 107 °C~1, length 1 m and area of
cross-section 10~3 m? is heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it is:

(1) 50x103N (2) 100 x 103N

(3) 2x103N (4) 5x103N

If the mass of the bob in a simple pendulum is
increased to thrice its original mass and its length
is made half'its original length, then the new time

X
period of oscillation is 5 times its original time

period. Then the value of x is:

(1 2 2) 23
(3) 4 4 3
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38

39

ey

o SH1eT # Faid fogd graer a8 § i |1 o

T2 BI

(1) ¥gd & ¥ Folt o9, TDF 4 § Foll g9
% S B 2 |

1
() ém%ww%nﬁrw&ﬁ%l

(3) A THEH AT G T STALT FRT I
B ¥

(4) ¥ IR ygra Bl 2 |

Teh TG I Tl BT T (v) — T (£) I g wafafa #:

o=V (ms™)

tis) —
39 T & [T g9 Ifad @ (a) — 999 (F) TS &

>a(ms?)
sa@ms?)

t(s)— ) t(s)>

>ams?)

)

0 t(s)—

T o3

0.5 x 101 N m~2 g1 yegeeran Tories qerm 1075 °C-!
T HOI TER e 1 H @ g 1073 m2 sy
TTeE asThd &l U efedd B8 &l 0°C & 100°C d%
T fereame am v o T fopa v 1 39 S wdifea
9 &

(1) 50x 103N
(3) 2x103N

(2) 100 x 103N
(4) 5x103N

e T AT A | D BT FHH 38%b o AT
% W 7 O ST o STt & 1 9! Ui e
3 HY A T, A A BN AT STAABTA TR

ammmgwﬁw%laaxaﬂqﬁ%z

(1) 2 2) 23
(3) 4 4 3
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Choose the correct circuit which can achieve the
bridge balance.

(M

3)

A force defined by F = or? + Bt acts on a particle
at a given time ¢. The factor which is
dimensionless, if o and 3 are constants, is:

m @ apr
o t
¢ B/ @ Py
A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If I is the current
in the circuit, then in the gap between the plates :
(1) displacement current of magnitude equal to
I flows in the same direction as I.
(2) displacement current of magnitude equal to
I flows in a direction opposite to that of I.
(3) displacement current of magnitude greater
than I flows but can be in any direction.
(4) there is no current.
An iron bar of length L has magnetic moment M.
It is bent at the middle of its length such that the
two arms make an angle 60° with each other. The
magnetic moment of this new magnet is:

(1) % 2) 2M
M
® 5 ) M

The minimum energy required to launch a satellite
of mass m from the surface of earth of mass M
and radius R in a circular orbit at an altitude of
2R from the surface of the earth is:

2GmM GmM
M 37 2 5

GmM 5GmM
3) 3% @ “gr
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Ig ufiqy gHT ST 51t o1 g uTd &Y 9o

M

3 )

F = aut? + Bt &1 afeaity e st R T @5 £ oY
Teh YT UX AT BT & 191 o qon B aais s ar
1 o 9§ & a1 gk faEm B 7

m @) opr
¢ @ Py

Teh FHIR W G Bl Teb WIS &1 T S 9
SireehT Srafyra femar man ¥ afg aftqy & era L& @

Wl & S SraE H —

(1) T ufcamer s gare foemas e [ &r gore feen &
& 7

(2) 1ot faudia faem [ % SO af o sl faeamd=
T JaTted el §

(3) fordir +fi T & uweg 1 9 eifres wfemmor &t feema=
&R gaTfed aidl § |

(4) ®I3 o RS R

L TETE %1 U WiE B8 g bl T e M 3|

qE TS & 9L | 39 YbIK ST 71 § fob I =]

T EL & Y 60° BT BIOT S & | 7 T3 Fradh bl

FEH ST &

) 2M

“4 M

M 5=q= qan R Broan &Y gl & ad § 2R $a1E WX
Rorq te gaER w1 A m I & RE SWE B
JeAT O & TETIT BT % @0 AT Saeadh ol 5
2GmM GmM

3R 2R
GmM 5GmM

3R 6R

(M )

3) 4
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[fthe plates of a parallel plate capacitor connected

to a battery are moved close to each other, then

A. the charge stored in it, increases.

B. the energy stored in it, decreases.

C. its capacitance increases.

D. theratio of charge to its potential remains the
same.

E. the product of charge and voltage increases.

Choose the most appropriate answer from the

options given below:

(1) A,CandEonly (2) B, D andE only

(3) A,BandConly (4) A, B andE only

The following graph represents the T-V curves of
an ideal gas (where T is the temperature and V'
the volume) at three pressures P, P, and P
compared with those of Charles’s law representea
as dotted lines.

/ ?1
V— . .
Then the correct relation is:

() A>P>Ph  (2) B>HK>R
G) A>hKB>P (4 B>h>HR

Two heaters A and B have power rating of 1 kW
and 2 kW, respectively. Those two are first
connected in series and then in parallel to a fixed
power source. The ratio of power outputs for these
two cases is:
1) 2:9 2) 1:2
3) 2:3 “4) 1:1
A sheet is placed on a horizontal surface in front
of a strong magnetic pole. A force is needed to :
A. hold the sheet there if it is magnetic.
B. hold the sheet there if it is non-magnetic.
C. move the sheet away from the pole with
D

uniform velocity if it is conducting.
move the sheet away from the pole with
uniform velocity if it is both, non-conducting
and non-polar.

Choose the correct statement(s) from the options

iven below:
%1) AandConly (2) A,CandD only
(3) Conly (4) BandD only

A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope for viewing
a distant object is:

(1) 28 2) 17

(3) 32 4) 34

A 10 pF capacitor is connected toa210 V, 50 Hz
source as shown in figure. The peak current in

the circuit is nearly (n = 3.14) :
+

150" 2) 1204
53% 0354 E43 0.58 4

R6_Hindi+English |

12

45

46

47

48

49

50

s T FU | T3 THIL <N LT Bl W Th §AL
&N T T g,

A. 3o dfaq Sdet Seal &

B. zo# dfad el gedl &

C. zHe g sedl &

D. 3% SIS qAT Aleest BT STIUTd GHI &l &
E. 3AsT qoT dieesl &1 [UH%hd 96l §

I o T foeatl & wad sfaa sat ghw:

(1) ¥a@A,CI9E (2) %a@B,DIE

(3) @A, BaC (4) Fa@ A, BaE

frrfataa I & ue omest 79 & d= @@t P, Py T
P9 T-V 9 Ya12id & & (STel T Ao, V Siaae)
fraent e Trrem &t fawg T gra gan &l 78 31

Py

’ 'P2
4

0
V—

a9 gEl g9 Y &

(1) A>BK>PH 2 AR>A>H

G A>hKB>p (D) B>PKB>HR

A EX AT B H otfera a A | kKW qan2 kW19

T UEd 9T A § qur AT g9 %9 ¥ Ua Rex
sﬁﬁeﬁaﬁgﬁﬁ%aﬁ%lﬁﬁﬂaﬁﬁﬁﬁﬁmﬁmﬁf

Dl
(1) 2:9 2) 1:2
3) 2:3 4) 1:1

@ TE ¥ | U 9 AT B _

A. AR e T & Al A1 Bl F81 1@ & g

B. uf I8 oTgws & A A6 &I q81 WA & g

C. 3fsde e & a1 916 Bl g ¥ g THEHH 9T
Sﬁ?aﬁ%m TA AR B YT

D. g HATh Ud IR R GRS R
Wh%ﬁaﬁ@m

A fod el @ @21 wa g

(1) ®aa AaC (2) ®a@ A, CaD

(3) Faw@ C (4) Fa@BaD

e geH el & 9T NG Bl Bihd gL 140 T
qan Wﬁuﬁ%ioéﬁr%@(gaa@aﬁ

@ & T gRastt & emads g 2
(1) 28 2) 17
(3) 32 (4) 34

Ts 10 uF & 91 &l fos sigar w210 V, 50 Hz
I ST T4 & | 9ieae § &1 o fImes o1 @ @
(mr=3.14):

HIE—
C=10pF

210 V,50 Hz
(1) 0934 2) 1204
(3) 0354 (4) 0.58 4
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Chemistry : Section-A (Q. No. 51 to 85) |

51

52

53

54

55

56

The compound that will undergo Sy ! reaction
with the fastest rate is

Br
o O o T
CH,
3) ©)\Br (4) <:>/\Br

The highest number of helium atoms is in
(1) 4 u of helium

(2) 4 gofhelium

(3) 2.271098 L of helium at STP

(4) 4 mol of helium

In which of the following processes entropy

increases?

A. A liquid evaporates to vapour.

B. Temperature of a crystalline solid lowered
from 130 K to 0 K.

C. 2 NaHCOj3(,) =>Na,CO3) + COyq) + HyO(y

D. Clygy—2 él( )

¢ correct answer from the options given

Choose

below:

(1) A,BandD (2) A,CandD
(3) CandD 4) AandC

Intramolecular hydrogen bonding is present in

NO,
S @
NO,
@) @
(0]

The energy of an electron in the ground state
(n= 1) for He* ion is —x J, then that for an electron
in n = 2 state for Be3" ion in J is :

m -5 @ -4x

4
3 -3 ) -x

The E° value for the Mn3"/Mn2" couple is more
positive than that of Cr3*/Cr2" or Fe3"/Fe?" due
to change of

(1) d> to d? configuration

(2) d*to d> configuration

(3) d3to d3 configuration

(4) d° to d* configuration
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Iz diftres ST g Aa A F Sy ! erfufran wam, ¥

Br
0 On o CF
CH,
3) @2\& (4) <:>/\Br

BT TS Dl SATeehas JE&T &

(1) Sf s 4ud

(2) dfTEI B4 gH

(3) T uT AfedaT % 2.271098 L#
(4) Sfwaa & 4 9w &

fr=fefaa & 9 fpT wehl & T2idl seat & 7

A. T%h &9 99 § g siar B |

B. us hedm s ardm 130 K& 0 K d& gear 1
C. 2 NaHCO3(, —>NayCOy) +COyq + Hy0(y
D. Clyg =2 Cl

S et feerel A e
(1) A,BarD (2) A,CaRD
(3) Cs&RD (4) AsRC

3IcT: 3T TIZS o SNeY fopd & Sufteard gar & ?

O
(1) HO

He™ atmae &1 qw atawt (n = 1) ¥ el saae &
Tt —x J &, a9 Be3™ o1ae &l n = 2 saen § suierd

a1 ot 0 2
) -5 (2) —4x
(3) —5x ) -x

Mn3*/Mn?* g@ &% faw E° A Cr3t/Cr2* an
Fe3*/Fe?* @ frmfeifaa uftad= o srur atfires erreres
¥

(1) > d? fa=mm

(2) d*ad’ fa=mm

(3) ddad fa=m

4) d>7d* faumm
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A compound with a molecular formula of CgH, 4
has two tertiary carbons. Its [UPAC name is:

(1) 2-methylpentane

(2) 2.,3-dimethylbutane

(3) 2.2-dimethylbutane

(4) n-hexane

Given below are two statements:

Statement I : The boiling point of three isomeric

pentanes follows the order

n-pentane > isopentane > neopentane

Statement II : When branching increases, the

molecule attains a shape of sphere. This results

in smaller surface area for contact, due to which

the intermolecular forces between the spherical

molecules are weak, thereby lowering the boiling

point.

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Both Statement [ and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is

correct.

(4) Both StatementI and Statement Il are correct.

Identify the correct reagents that would bring
about the following transformation.

(O cin-cr-ci,
O—CHZ—CHQ—CHO

(1) () BH;

(i)
(iii)
Q)

(i)
(iii)
(iv)
Q)

(i)
)

(i)

/ S
H202 OH
PCC

2) BH,

/ o
H202 OH
alk. KMnO,
H,0°
H,O/H"
PCC
H,O/H"
CrO4

)
4
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& G CH 4 AT T AMfTes & 2 it e Sured
HEGCI R U R RS ARSI LR

(1) 2-afyao==

(2) 2.3-smEAfaee

(3) 2.,2-=TEHfyeee

(4) neRA

I < o faw o &

F | : TF FHTETE! U=l & daeish rrarad s
T UTE B &

N-U= > STEEY=A > aiiu=e

o 11 : 39 9Ta o1 &, A9 79 Th e B SHT
W W 3| 39 uRoTEEEy, dwsl % g g &eea
% B ST & T57eh Il i T3t o S SIasTidh
T G 81 91 & SiIK 39 BT FALI BH &I ST & |
U T3 T HUAl % SR WX, A fiu Ty fowedt @
aifeh SUYeRT S g

(1) a1 8T %o 11 3 Tad B

(2) %9 1| & 9ig B 1 Tad 3

(3) ®uA 17 & g A 1 9 1

(4) ®uT 1 3R B 11 I T B |

Tl arfepHie! ol usaThY &Y fefaRad waraeer
H B |
( )—cn,-cu-cn, -
{ )—cH,-ch, - cHo

(1) (i) BHj

S
H202/0H
LIRS KSR
BH

3
/e
HZO2 OH

&t KMnO,

(i)
(iii)

2 ®

(i)
(iii)
(iv)
(1)

(i)
(1)

(ii)

H3O®
H,O/H*
dr.dr .
H,O/H*
CrO3

)

“)
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60  Which plot of In k vs = is consistent with
peret T 60 Fretfifiad ¥ & @ @ In k o L % da omw
Arrhenius equation?
SFTaE THIH T & STER o 7
i
(1 = @ = 17 L /
T - T - Ofsl S @
T e T e
N Wi/
< -4
=] =]
¢ = @ = I z
1 L
T T 3 = @ =
I - T -
61  The most stable carbocation among the following
is:
CH; 61 frefeiad o & g st Wl HeeE 8
® |
D) . BN o |
3 2 CH, 0N, ~¢H
> M cp,” H > epy” |
® 3 2 CH3
@) E} (i,
@
(3) CH,
“4) PN
H;C CH”” NCH; cH,
CRPEN
62 Match List I with ListIL. e ~EHT ~CH;
List I List IT
(Process) (Conditions) 62 I .
1 gl 11 & |rer B BifTg:
A. Isothermal [.  No heat exchange il T
process = 1 (%) = 1 (Rarfa) '
B. Isochoric II. Carried out at A, GHATIE YohH I &g S fafma =&
process constant temperature B. aaadMe e [ R 9 @ & sl B
C. Isobaric III. Carried out at C. wnaerg yme Il RYT e 9% &
process constant volume ' ' P
D. Adiabatic IV. Carried out at l
process constant pressure D. ®&r™ yhd IV. R 9 ax &l o1 2 |
Choose the correct answer from the options given T g T famedt & @@ IX ghw
?16)]0\1: IV, B-II, C-II1, D-I (1) A-IV, BIL, G-I D
(2) AL B-IL C-IIL D-IV (2) A-I, B-II, C-III, D-1IV
(3) A-H, B-HI, C-IV, D-I (3) A-l[, B-l[l, C-IV, D-I
(4) A-1V, B-III, C-II, D-I (4) A-1V, B-1II, C-II, D-1
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66

Match List I with List II.

List I (Complex) List II (Type of
isomerism)
Co(NH, ), (NOZ)JCI2 I Solvate
isomerism
Co(NH, ), (50, ) [Br Il Linkage
isomerism
CO(NH3)6} [Cr(CN) ] IIL Tonization
isomerism
_Co (H20)6 } Cly IV. Coordination
isomerism

Choose the correct answer from the options given
below:

(1) A-IL, B-1II, C-1V, D-II

(2) A-1L, B-1V, C-III, D-II

(3) A-IL B-1V, C-IL, D-1

(4) A-IL B-IL C-1V, D-1

1 gram of sodium hydroxide was treated with
25 mL of 0.75 M HCl solution, the mass of sodium
hydroxide left unreacted is equal to

(1) 250 mg (2) Zeromg

(3) 200 mg (4) 750 mg

Which reaction is NOT a redox reaction?
(1) 2KCIO5+1, = 2KIO; +Cl,

(2) H,+Cl, > 2 HCI

(3) BaCl, + Na,SO, — BaSO, + 2 NaCl
(4) Zn+CuSO, = ZnSO,4 + Cu

For the reaction 2A = B+C, Kc =4x107. Ata

given time, the composition of reaction mixture
is: [A]=[B]=[C]=2x10"*M.

Then, which of the following is correct?

(1) Reaction has a tendency to go in forward
direction.

Reaction has a tendency to go in backward
direction.

Reaction has gone to completion in forward
direction.

Reaction is at equilibrium.

)
3)
4
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63 a [ o ga 11 & are frem aifa:
T 1 (fg) T 11 (v
F1 THR)
:CO(NH3)5 (NOZ):|C12 . faaegsE
REICEERIE
Co(NH,), (s0, ) [Br I s
REICEERIE
:CO(NH3 )J [cr(en)] 1L smem
BEICEE]
:CO(Hzo)Jm3 IV. SudesaNH
KEICEGI]
St for T Pt & Y S P
(1) A-L B-IIL, C-1V, D-II
(2) A-L B-IV, C-III, D-II
(3) A-IL, B-IV, C-III, D-I
(4)  A-IL, B-III, C-1V, D-I

64

65

66

qifsay gEgiaEs & 1g @l 0.75 M HCI fawas &
25 mL % 91 Iuaiid foam T, 9w srertishiRia

TSI F3SIATES B FAH ST SR
(1) 250 mg (2) Zeromg
(3) 200 mg 4) 750 mg

frefafaa & & sF-ar eifaforan e aifforan
TWie?

(1) 2KCIO5+1, = 2KIO; +Cl,

(2) H,+Cl, > 2 HCI

(3) BaCl, +Na,SO, — BaSO, + 2 NaCl
(4) Zn+CuSO,4 = ZnSO, + Cu

afufFaT 24 = B+C % g K =4x107 ¥ e
fow o g w, st i @t dee &
[A]=[B]=[C]=2x10M.

a9, feffaa ¥ g - & ?

(1) arfufepan @ orr faem & S &f ygta 31

(2) srfufepan 1 ugE feem # S &1 ygfa 2|

(3) rfichar s faem & qoi & gl 2|

(4) erfufrar e wx #)
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(Compound)
A. NHj4 L.
B. BrF;
C. XeF,
D. SFq

Match List I with List II.
List I List IT

(Shape/geometry)

Trigonal Pyramidal

II.  Square Planar

III. Octahedral

IV. Square Pyramidal

Choose the correct answer from the options given

below:

(1) A-IL B-1V, C-1II, D-1

(2) A-IL B-1V, C-I, D-II

(3) A-IL, B-III, C-1V, D-1

4) A-I, B-1V, C-II, D-III

On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the
purification of such solid substances based on the
above principle is known as

(1) Sublimation (2) Distillation

(3) Chromatography (4) Crystallization

In which of the following equilibria, Kp and K
are NOT equal?

(M
)
(€))
4

2 Hi,
COyg) T Hy g
Brag) * Clyg)
= PClyg) + Clyg)

Hyg) T g =
CO) + HyO) =

2 BrCl(g)

Among Group 16 elements, which one does NOT
show —2 oxidation state?

(1) Se 2) Te

(3) Po 4 O

Given below are two statements:

Statement I : The boiling point of hydrides of
Group 16 elements follow the order

H,O > H,Te > H,Se > H,S.

Statement II : On the basis of molecular mass,
H,O is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false.
(2) Statement I is true but Statement Il is false.
(3) Statement I is false but Statement Il is true.
(4) Both Statement I and Statement Il are true.

R6_Hindi+English |

17

67

68

69

70

71

Th 1 (dfivs)

o0 Wy

T o1 gl 1 o 4 fram difeg:

T 11 (smpfa/
wTfifer)

NH,4 I P e
BrF, . <t goasE
XeF, Il sEwaHE
SF, IV. =i Rfe
- &g T faepedl & w8 IR giw:

(1) A-IL B-1V, C-III, D-I

(2) A-IIL B-1V, C-I, D-II

(3) A-IL B-IIL, C-1V, D-I

(4) A-L B-1V, C-II, D-III

T HT IR, PV I qard ¥ 4 g9 srawen § qEd
T AT Sraen H ufkafad 81 97 § | %X fau fagia &
STTYT X U 31 vaTelf & e % fae uga aebmiis
HEAT 5

(1) ST
(3) aviafes

(2) EeH
(4) fpea

et amet & & fepadl K, ofit K @ 7@ ¥ ?
(1) Hyg *lyg = 2 H‘(g)

(2) €O+ HyOg) = COy) * Hygg)

(3) 2BrCly, =
4) PClyy =

Bryg) T Clyg
PClyg) + Clyg

T 16 Tl § | HI—a1 —2 AT raen T
qtaT & 7
(1) Se
(3) Po

(2) Te
4) O

ra 31 e g T R

F L : T8 16 @l & TEIIES! & FaLHISh Ffanad
% BT UTA HId &

H,O > H,Te > H,Se > H,S.

& 11 : aTTive 5 % e uX H,O &1 SigATa
TS TE b o GIRl & A el & aig H,O #
foga H-atmde &f SuRafa & &, 8@ Ieaat
FILH BT |

IUT T3 T HUAl % SR WX, A U Ty fomedt @
/& AT ghw:

(1) %991 3R &a= 11 S Ted & |

(2) ®¥F 1| § uig A 1 Tad 3

(3) &9 [ 7Tad & Uig BuF 1l 9 T

(4) ®HI 13X Bu 11 S T &1
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(Conversion)

A.
B.

C
D

Given below are two statements:

Statement I : Aniline does not undergo Friedel-

Crafts alkylation reaction.

Statement I1 : Aniline cannot be prepared through

Gabriel synthesis.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are false.

(2) Statement I is correct but Statement II is
false.

(3) Statement I is incorrect but Statement II is

“4)

true.
Both Statement I and Statement Il are true.
Given below are two statements :

Statement I : Both [Co(NH3 )6 TJr and [CoF6 ]3_

complexes are octahedral but differ in their
magnetic behaviour.

3+
Statement II : |:CO(NH3)6] is diamagnetic

3- . .
whereas [CoFé] 1S paramagnetic.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Statement I and Statement II are false.
(2) Statement I is true but Statement Il is false.
(3) Statement I is false but Statement Il is true.
(4) Both Statement I and Statement II are true.

Fehling’s solution ‘A’ is

(1) alkaline copper sulphate

(2) alkaline solution of sodium potassium
tartrate (Rochelle’s salt)

(3) aqueous sodium citrate

(4) aqueous copper sulphate

The Henry’s law constant (Ky;) values of three

gases (A, B, C) in water areHl45, 2x107> and

35 kbar, respectively. The solubility of these gases

in water follow the order:

() B>C>A (2) A>C>B
(3) A>B>C (4) B>A>C

Match List I with List II.
List I List IT

(Number of

Faraday required)

1 mol of H,0O to O, I 3F
1 mol of MnOZ to II. 2F

Mn2t
1.5 mol of Ca from
molten CaCl
. 1 mol of FeO to Fe,O; IV. 5F
Choose the correct answer from the options given
below:
(1) A-IIL, B-1V, C-I, D-II
(2) A-Il, B-III, C-I, D-IV
(3) A-II, B-1V, C-1I, D-1
(4) A-IL B-1V, C-1, D-1II

. IF
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Tl

(e

A
B
C.
D

I &1 e few T &

F 1 : UM HISa—shIeed Ufeha (ol SITHihaT
T B B

Fu 11 : Ul &7 Asfier Sowwor gy =% <= o
bl & |

Y feU T AT & MU IX, T fau T fawedt 9
T I G

(1) a1 38X & 1 31 Tad & |

(2) ®uF 19§ 9ig A 1 Tad 3

(3) ®uT 17 & Ui H 1 9 1

(4) HI 13X a1l S T & |

T 3w R g ¥

w1 [CO(NH3)6T+ 3 |:COF6:|3_ Sl g
EHTD & Iig Gahid FaeR | 4+ & 2 |
w11 : [CO(NH3)6T+ yiedar & st

[CoF, |~ srggasa &1

IR f&U T4 HUAl & Sy 9x, A fau T faemed |
[ I A

(1) @ 8fX & 1 St Tod 2 |

(2) ®u9 19 ¥ 9ig B 1 Tad 3

(3) ®uA 17 & wig HF 1 9 1

(4) HI 1 3T Bu 11 S T &1

Wi fereas <A gran @

(1) & Brux a@he

(2) Gifeaw reirm TR (AP @) & ard
[EERE]

(3) el arfsan fage
(4) ST BUT TEh

N frEt (A, B, C) & fog 781 e Rerties (K ) w9
BT 145, 2x107> 3T 35 kbar ¥ | 37 4@ &1 51 &
foreamd frfaRad % &l 9o sl 8
(1) B>C>A 2) A>C>B
3) A>B>C (4) B>A>C

Tl Lt g 1 o e e it

Tl

€ cEped s
Eakice)))
H,0 % 1 9@ &% O, L. 3F
Mno;%sltha%sMn%ﬁf II. 2F

T CaCl,&Caw 1.5%@ I 1F
. 1 91@ FeO & Fe,O; # IV. 5F
e g Ty femedt @ 7@ 3T giT:

(1) A-IIL B-1V, C-I, D-II

(2) A-IL B-IIL, C-1, D-IV

(3) A-IIL B-1V, C-I1, D-I

(4) A-IL, B-1V, C-1, D-II
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77  Match List [ with List I1.
List I List IT

Quantum Number Information provided

A my I.  shape of orbital

B. m II.  size of orbital

C. 1 III. orientation of
orbital

D. n IV. orientation of spin
of electron

Choose the correct answer from the options given
below:

(1) A-IIL B-1V, C-I, D-II

(2) A-IIL B-1V, C-II, D-I

(3) A-IL B-L, C-1V, D-III

(4) A-L B-lII, C-II, D-1V

78  “Spin only’ magnetic moment is same for which
of the following ions?
A T3 B. Cr*f
C. Mn?* D. Fe?t
E. Sc3*
Choose the most appropriate answer from the
options given below:
(1) AandEonly (2) BandConly
(3) AandDonly (4) BandD only
79  The reagents with which glucose does not react
to give the corresponding tests/products are
A. Tollen’s reagent B. Schiff’s reagent
C. HCN D. NH,OH
E. NaHSOj;
Choose the correct options from the given below:
(1) AandD (2) BandE
(3) Eand D (4) BandC
80  Match List I with List II.
List I (Reactions) List IT (Reagents/
Condition)
(0]
A OO0 L Oy
Anhyd.AICl;
0]
b O-0r 0 oo,
OH O
O - I KMnO,/
KOH, A
CH,CH; .
D. IV. (i) O;
COOK ..
(i1) Zn-H,O

Choose the correct answer from the options given
below:

(1) A-I, B-1, C-II, D-1V

(2) A-1V, B-IL, C-II, D-III

(3) A-L, B-1V, C-I1, D-lII

(4) A-1V, B, C-11I, D-1I
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a

%.

Cowrg

T o1 gl 1 o 4 fram difeg:

il
) (Sueteer AFFTRY)
I e &l e
II. eH BT 3BT
I11. hereh ol STrfa—aTa

IV. Scia2i< & aehvl &l
arfyfa=amg

Hrd g 1Y el @ @& 3T g
(1) A-III, B-1V, C-1, D-TI
(2) A-III, B-1V, C-II, D-I
(3) A-II, B-1, C-1V, D-lII
4) A-1, B-III, C-II, D-IV

Frrfatad @ | o STEl o U Teshor a0 gadm

12

n

I faw o fasedt & 9@ w8 saX g

(1) Fad ARE (2) %a@ BaixC

(3) ®a@ASRD (4) Haw BsikD

q eyt RTep e e eiffhar T war @

3R e ierur/3aang wEY < &, R

A. zoa oifyeds B, fire sifveds

C. HCN D. NH,OH

E. NaHSO,

I feu 1o fqsedt & @& ITX T

() AsRD (2) BSRRE

(3) Es&D (4) BarC

Tl Lot ga 1 & @ Fram st
I

(erfaferan)

Nelertes

000
Salle;

CH,CH;4
T

T 11
(erfirepeien/fRafa)

O
kCl/

fste AICI,

L.

II. CrO4

Il KMnO,/
KOH, A

IV. (i) O4
COOK .
(i1) Zn-H,O

Hrd U T el @ @& 3T g

(1) A-IL B-L, C-II, D-IV

(2) A-1V, B-I, C-I1, D-IIT

(3) A-L, B-1V, C-II, D-III

4) A-1V, B-I, C-III, D-II
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(Molecule)

o ow »

Arrange the following elements in increasing
order of electronegativity:

N, O, F, C, Si

Choose the correct answer from the options given
below:

(1) Si<C<O<N<F

(2) O<F<N<C<Si

3) F<O<N<C<Si

(4) Si<C<N<OX<F

Match List I with List II.
List I List IT

(Number and types of
bond/s between two
carbon atoms)

ethane I.  one o-bond and
two m-bonds

two m-bonds

one ¢ -bond

II.
II.

ethene
carbon
molecule, C,
ethyne IV. one ¢ -bond and

one n-bond

Choose the correct answer from the options given
below:

A-1V, B-111, C-11, D-1

A-IIL, B-1V, C-11, D-1

A-IIL, B-1V, C-1, D-I

A-1, B-1V, C-I1, D-III

Arrange the following elements in increasing
order of first ionization enthalpy:

Li, Be, B, C, N

Choose the correct answer from the options given
below:

(1) Li<B<Be<C<N

(2) Li<Be<C<B<N

(3) Li<Be<N<B<C

(4) Li<Be<B<C<N

Which one of the following alcohols reacts
instantaneously with Lucas reagent?

(D) CH3 —CH2 - ﬁZH —OH
CH,

(2) CH,- $H —CH,OH

CH,4

CH,

|
(3) CH,- ? -OH

CH,
(4) CH,-CH,-CH, -CH,OH
Activation energy of any chemical reaction can
be calculated if one knows the value of
(1) probability of collision.
(2) orientation of reactant molecules during

collision.

3)

rate constant at two different temperatures.
(4) rate constant at standard temperature.
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caw

frrafaRaa q ®i e Feomeenal & sed 9 A aied
HIfT:

N, O, F, C, Si

4 fag T Pl @ Y o g
(1) Si<C<O<N<F

(2) O<F<N<C<Si

(3) F<O<N<C<Si

(4) Si<C<N<O<F

T o1 gl 1 o @ fram difeg:
il A I (1 F1dT AL
(a7) ¥ EHt AN FEn AR
)
T L.

OB
Hie A C,
RUIES]

Th o-IEY 3T
3 -3Ey

gl 7 -oTEE

Th G-3EY

Th o-EY 3T
T m-3EY
T feu 1o fqsedt & @& ITX T

(1) A-1V, B-111, C-II, D-I

(2) A-II, B-1V, C-II, D-I

(3) A-III, B-1V, C-1, D-II

(4) A-1, B-1V, C-IL, D-III

frefafaa ol & gom o T & Sod B9 §
Hafyd HIg:

Li, Be, B, C, N

e few o fasedt | w8 SO g

(1) Li<B<Be<C<N

(2) Li<Be<C<B<N

(3) Li<Be<N<B<C

(4) Li<Be<B<C<N

frefafaa Twleial 5 9 BF-—a1 ©bd AfHES &
1Y qreetivren Afifshar & am ?
(1) CH,-CH,- CH-OH
|
CH,
CH - CH,OH

|
CH,

II.
II.
IV.

(2) CH,-

CH,

|
(3) CH;- ? —-OH
CH,
(4) CH,-CH,-CH,-CH,OH

fopedt oft wramafve arfufean & afpa Sot ufiafaa
@1 ST Teball & AfS FfaRad ol |7 SiTd &l

(1) = &l wiRiebar

(2) TEET % QA SATHHRE ST[ST & St
(3) @ fi= qmif ux A R

(4) W& 99 9T I Reid
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Chemistry : Section-B (Q. No. 86 to 100) |

86

87

88

89

90

91

Identify the correct answer.

(1) BF; has non-zero dipole moment.

(2) Dipole moment of NFj is greater than that
of NHj.

(3) Three canonical forms can be drawn for

CO%‘ ion.
Three resonance structures can be drawn for
ozone.

4

The pair of lanthanoid ions which are diamagnetic
is

(1) Ce3" and Eu2*
(3) Pm3*and Sm3*

(2) Gd3" and Eu3*
(4) Ce*"and Yb2*

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R =8.314 J K-1 mol!, log 4 = 0.6021
(1) 380.4kJ/mol  (2) 3.80kJ/mol

(3) 3804 kJ/mol (4) 38.04 kJ/mol

For the given reaction:

H

(major
product)
‘P’ is
(1) O—COOH
OH OH
| l
@ (—cH-ci—<")
00

The work done during reversible isothermal
expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmosphere
is:

(Given R =2.0 cal K- mol1)

(1) —413.14 calories

(2) 413.14 calories

(3) 100 calories

(4) 0 calorie

The products A and B obtained in the following
reactions, respectively, are

3ROH + PCl;—>3RCI + A

ROH + PCls—>RCI + HCI + B

(1) POCl; and H;PO,

(2) H;3PO, and POCI,

(3) H3PO5and POCly

(4) POCI; and H3PO4
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e TR G

(1) BF; @ R fe—ga omgel & 2

(2) NF; @1 fa—ga amget NH, & fa—ga omgel &
e 2am %

CO3~ s % fr & fafe w7 smifea frg
T Feh B |

A % Y A TG ST Srad i T
Tl 2 |

WIS TGl BT 98 I Sl GG Th €, &
(1) Ce¥" s Eu2t (2) Gd3' &R Eud*

(3) Pm3t st Sm3t (4) CetafirYb2'

W9 A &l 27°C & 57°C ufiafda fear wmar & o«
fordlt arfafepa @1 31 X T[T 2 AT § | |iehger St
e idd BT |

femmmar®: R =8.314 J K- mol!, log 4 = 0.6021
(1) 380.4 kJ/mol (2) 3.80 kJ/mol

(3) 3804kJ/mol  (4) 38.04 ki/mol

3 T8 StfHfehar & faa:
<:>_(I: =CH KMnO4/H+
H

O

3)
4

25°C 9% Ush I E3E 19 % 20 UHRSIT a9 &
10 THATREIR 3T T IShHUNT THATIRT TETUT 3% QIR
foman o w3

(e mar #: R = 2.0 cal K- mol™1)

(1) —413.14 calories

(2) 413.14 calories

(3) 100 calories

(4) 0 calorie

frfaRaa sifafsearsti & s SdrE, A it B %H9T: &
3ROH + PCl;—>3RCl + A

ROH + PCl5 —->RCI+HCI+B

(1) POCI;wd HyPO,

(2) H;PO,Td POCI;

(3) H3PO; W POCI;

(4) POCI; Td H;PO;
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Given below are certain cations. Using inorganic
qualitative analysis, arrange them in increasing
group number from 0 to VI.

B. Cu?"

. D. Co%*

E. Mg

Choose the correct answer from the options given
below:

(1) B,C,A,D,E
3) E,A,B,C,D

(2) E,C,D,B,A
(4) B,A,D,C,E

The plot of osmotic pressure (TT ) vs concentration
(mol L-1) fora solutlon gives a straight line with
slope 25.73 L bar mol~!. The temperature at which
the osmotic pressure measurement is done is:
(Use R =0.083 L bar mol! K1)

(1) 310°C (2) 25.73°C

(3) 12.05°C 4) 37°C

A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is :

(Given atomic masses of A=64; B=40; C=32u)
(1) ABC4 (2) AB,C,

(3) ABCy 4) A,BC,

Major products A and B formed in the following

reaction sequence, are
OH

H;C
PBr alc. KOH
—>A B
(maj or) i

(major)

H;C

|| uJ

O C%ng

(1) A=

>

(2) A=

Sopt
Qegt
A_U
Solt

|| w

>

(GO

During the preparation of Mohr’s salt solution
(Ferrous ammonium sulphate), which of the
followmg acid is added to prevent hydrolysis of
Fe?" ion?

(1) concentrated sulphuric acid

(2) dilute nitric acid

(3) dilute sulphuric acid

(4) dilute hydrochloric acid
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A P8 g QU T ¥ | STehE i O fagersor
% ST &1, S e 9e §ed 0 ¥ VI dew o sgaied

B. Cu?*
C. Ba?* D. Co?*
E. Mg2+
e few g fqsedt | /€ S g

(1) B,C,A,D,E
(3) E,A,B,C,D

fepelt farera o foTu wreen a1 (17) 8% digarn (Jie
a1 ) & e ster wew ] T S & et gra
25.73 L bar mol~! ¥ oz a0 8 91X @@ o
T TR, E:

(R =0.083 L bar mol™! K-!+fifsm)

(1) 310°C (2) 25.73°C

(3) 12.05°C (4) 37°C

ua At X F A% 32%, B b 20% a7 st ufigra C
& 199 X BT JATU g &

(fearmane: WWA;M; B=40;C=32u)

(2) E.C,D,B,A
4) B,A,D,C.E

(1) ABC; (2) AB,C,
(3) ABC, (4) A,BC,
frrfafaa siffear 9 & o9 g 3amg, A e B #:
OH
H,C y
pBr3 A QFmﬁEFZrKOH B
(7=)
0 20
OH
Zaeatae
o0 I
NeRtae

R @@V faeae (BeE SMIaw aehe) & fava &
v, fr=feafaa & @ fa ot & Fe?™ amaw &

STATTEE bl b o foIQ e i & 7
(1) wiz G o
(2) q7 Efee A
(3) Y HER I
(4) T FTESIERAING A
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Consider the following reaction in a sealed vessel
at equilibrium with concentrations of
N,=3.0x103M,0,=4.2x 103 M and
NO=2.8 x 103 M.

2NO, \ =N +0
(2) 2(2)  "2(e)
If0.1 mol L1 ofNO(g) is taken in a closed vessel,

what will be degree of dissociation ((x) of NO(g)

at equilibrium?
(1) 0.0889
3) 0.717

(2) 0.8889
(4) 0.00889

Identify the major product C formed in the
following reaction sequence :

NaCN
CH;-CH,-CH, -1 A
OH™ . NaOH c
Partial hydrolysis Br2 (major)

(1) butylamine

(2) butanamide

(3) a—bromobutanoic acid
(4) propylamine

Mass in grams of copper deposited by passing
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol!,

1F =96487 C)
(1) 0315¢g
(3) 0.0315¢g

(2) 315¢
4) 3.15¢g

Given below are two statements :

3+
Statement I : [Co(NHs)J is a homoleptic

+
complex whereas [CO(NHS)A;CIJ is a

heteroleptic complex.
3+

Statement II : Complex |:CO(NH3 )6} has only

+
one kind of ligands but [CO(NH3)4C12j| has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false.
(2) Statement I is true but Statement II is false.
(3) Statement I is false but Statement Il is true.
(4) Both Statement I and Statement II are true.

R6_Hindi+English |

23

97

98

929

100

N,=3.0x 103 M, 0,=4.2 x 103 M &R
NO =2.8 x 10~ M @isarail & @y fopell diesis arst
¥ Frefaied g 9X foemr ity

2NO, \ =N

(2) 2(g)  2(e)
?:lﬁNO(g)%O.l mol L1 &t diers urr A foran o,
ar fegrem wm (o) @ Bt ?

+O2

(1) 0.0889 (2) 0.8889

(3) 0.717 (4) 0.00889

fFrrfafaa sifufsar 9 & o1 g7 Iar C &
NaCN

CH3—CH2 —CH2 -[———A

OH NaOH

: C
FTTYTeh STeTaEre Br2 (E@q)
(1) sgfewedm
(2) =gemIEE
(3) o —FEGATH A
4) Wi

BT Tehe foreras arer ferdl dieedier & 100 Ydbs &
17 9.6487 A farela—am1 wenfed i X Haifd srax
&1 U H FegH &

(fezm @ % ¢ Cu &1 Ao S| ™

63 gmol!, 1F = 96487 C)

(1) 0315¢ 2) 315¢
(3) 0.0315¢ 4) 3.15¢g
T & wyd fgu T ¥

w1 [CO(NH3)6T+ % THINTEH THA &
s [ Co(NH, ), C1, || s #tvfis s 1
e I : Wt [CO(NH3)6J3+ 3 35t T WA

fores ¥ vt [<:<>(1\m3)4c12}+ ¥ § o
YT o (TS £ |

Y feU T AT & U I, i fau Ty fawedt 9
T I G

(1) %991 3K &u= 11 34 Ted & |

(2) ®uT 198 7 Uiy HYA 1 Tad 2 |

(3) & | Tad & Uig Bu 11 9

(4) ®uT 1 3R %u 1 3 9 2|
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Botany : Section-A (Q. No. 101 to 135)

101

102

103

104

105

Lecithin, a small molecular weight organic
compound found in living tissues, is an example
of:

(1) Phospholipids
(3) Carbohydrates

(2) Glycerides
(4) Amino acids

These are regarded as major causes of biodiversity
loss:

A. Over exploitation

B. Co-extinction

C. Mutation

D. Habitat loss and fragmentation
E. Migration

Choose the correct option:
(1) A,B,CandD only
(2) A,BandE only

(3) A,BandD only

(4) A,CandD only

Which one of the following is not a criterion for
classification of fungi?

(1) Mode of nutrition

(2) Mode of spore formation

(3) Fruiting body

(4) Morphology of mycelium

A pink flowered Snapdragon plant was crossed
with a red flowered Snapdragon plant. What type
of phenotype/s is/are expected in the progeny?
(1) Red flowered as well as pink flowered plants
(2) Only pink flowered plants

(3) Red, Pink as well as white flowered plants
(4) Only red flowered plants

Which one of the following can be explained on
the basis of Mendel’s Law of Dominance?

A. Out of one pair of factors one is dominant
and the other is recessive.

B. Alleles do not show any expression and both
the characters appear as such in F,
generation.

C. Factors occur in pairs in normal diploid
plants.

D. The discrete unit controlling a particular

character is called factor.
E. The expression of only one of the parental
characters is found in a monohybrid cross.
Choose the correct answer from the options given
below:
(1) A,C,DandE only
(2) B,CandD only
3) A,B,C,DandE
(4) A,BandC only
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TSl Hdshl H U™ S ATl U 3Ted 319 9K &

CARINCARINEAC I n] T Teh BT & |
(1) wrenfas () feass
(3) wETEEe (4) THFAT oA

el e &1 g

(1) waw@ A, B, C 3D
(2) %ad A, BRE
(3) ®aw@ A, Bk D
(4) wawa A, C 3D

Frrfafad & & o o1 Hawi & BT B TH AFES
TWE?

(1) droor & fafy

(2) Sy fmtor T qeRT

(3) e @

(4) BehoTe (ATEETETEH) bl SHrehit Cehr

e TATE GOt I TSI % WY BT A g ar
IS & GG P 1 BT BT 197 | At § foper
YT b WEAUITEYT &b &I bl SHIG Bl STl & 7

(1) < AT ST T[T g Tl ey

(2) Had TS YT A1 G

(3) @, TATET % AT & e I AT Ure

(4) %ad A1 IO AT 9

fr=fafaa & @ fopta A=w & wwifaar & Frew &
LT X AT bl ST Feball & 7

A.  HFTH TG IS H A Th THET 3T TE STIHTE
AT E?

B. UWW &3 sifvafe welia 78 & € i F,
el Y 707 ST B9 H Yohe B W ¥ |

C. g faford areat & et sirst & g oimd 1

D. fore apor fagie 1 Frifera e et fafaer sar8
et HEAT & |

E. UHa@®T €H0 H %Had Tk 9% & 0 P
aifyeafert BT 21

ra fau T fysedt & & @21 eO) & ghw

(1) %aw A, C,DRE

(2) %@ B, C &k D

(3) A,B,C,Da&RRE

(4) ¥aa A, BaiRC
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Tropical regions show greatest level of species

richness because

A. Tropical latitudes have remained relatively

undisturbed for millions of years, hence

more time was available for species

diversification.

Tropical environments are more seasonal.

More solar energy is available in tropics.

Constant environments promote niche

specialization.

E. Tropical environments are constant and
predictable.

Choose the correct answer from the options given

below:

(1) A andB only

(2) A,BandE only

(3) A,BandD only

(4) A,C,DandE only

B.
C.
D

In the given figure, which component has thin
outer walls and highly thickened inner walls?

() B 4 C

The cofactor of the enzyme carboxypeptidase is:
(1) Niacin (2) Flavin

(3) Haem (4) Zinc

Given below are two statements:

Statement I : Chromosomes become gradually
visible under light microscope during leptotene
stage.

Statement I1 : The begining of diplotene stage is
recognized by dissolution of synaptonemal
complex.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement II is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true
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SuhRieTdl &5 (ZITe) ITaad WX Bl ST gl

@ YT BYd €, Fifh

A.  IUGHREHR e AT au qob STUEThd g
® ¥, o g fafadieto & fau sifte v
U o7

B. Swpiesd uatawe § st wew/wgd
Brar ¥

C. SuTmhicHl &= § i WX ot Suwsd el & |

D. Rex vatazer feha fafardieor &t agrar gar 21

E. Swpiedd gafaor fax oit qeagaHa & ¥

e g T feomedt ® | wE SO @l g

(1) %aa AsiXB

(2) %ad A, BRE

(3) %aw A, B3k D

(4) waw A, C,D3iRE

oo fa=r o, T eres & gael ster fut o ey
wyfera ity fafoai g 8 7

() D 2 A

3 B 4 C

TSITEH BT [RAUTeSd hl qebiidh (HIbae) &
(1) fenfam (2) wifas

(3) #m (4) W@

T & %Y feu U B

Fo | 2 TSN T0T/3TeT % SO UehraT gerastt
T U U (HHIEH) HiTe w9 Y s 3 @
g

w11 : @AM axur/oreren & 3H &I 98d™
e Hirced % fodie 9 &l 2 |

SUYeRT BUAT b ST H, fo MU faemedt § & @ AT
&l g

(1) & [ 3K %o 1 31 318 2

(2) ®I9 19 T WfehT B 11 318 § 1

(3) & | 3 § Wfoh Hee 119 71

(4) ®uA 1 3R %A 11 I T B |
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A.

D.
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What is the fate of a piece of DNA carrying only
gene of interest which is transferred into an alien
organism?

A. The piece of DNA would be able to multiply
itself independently in the progeny cells of
the organism.

B. It may get integrated into the genome of the
recipient.

C. It may multiply and be inherited along with
the host DNA.

D. The alien piece of DNA is not an integral
part of chromosome.

E. It shows ability to replicate.

Choose the correct answer from the options given

below:

(1) DandEonly (2) BandC only

(3) AandEonly (4) AandBonly

Identify the type of flowers based on the position

of calyx, corolla and androecium with respect to

the ovary from the given figures (a) and (b)

(1) (a) Hypogynous; (b) Epigynous

(2) (a) Perigynous; (b) Epigynous

(3) (a) Perigynous; (b) Perigynous

(4) (a) Epigynous; (b) Hypogynous

Match List I with List II

List I List IT
Two or more L Back cross
alternative

forms of a gene

Cross of F; II.  Ploidy
progeny with

homozygous

recessive parent

Cross of F, 1. Allele
progeny with

any of the parents

Number of IV.  Test cross
chromosome

sets in plant

Choose the correct answer from the options given

below:

(1) A-IL B-L, C-l1I, D-IV

(2) A-IIL B-1V, C-I, D-II

(3) A-1V, B-III, C-1I, D-1

(4) A-L B-II, C-IIIL, D-1V
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A.

B.

3G SIUAY WS &I T At il o Rk U Uy it
S e fopy 2, i fenely feremidi <irar & i
T ST % 7

A.  DNA %1 @ S1d &l Tadfd HITewrst ¥ @as €9
Y U H H FEH B

B. I U % S ® guhd &1 debdT 1

C. AT HTh TN (F2) SITAT &% A1 LI
HT THAT 5|

D. DNA & g @S Jorgs &1 =1 9T 72
BT 2

E. 3 yfugfa &0 & emar yaiia & 31

Ira fau T fyaedt & & @2 sav &t ghw:

(1) ¥a@DRE (2) *a@ B aixC

(3) ®aTASRE (4) Had ARB

fam o fasi (a) 87X (b) & sis19m & dast & qreredys
(Bferer), Ty (i) of g (Tgfiram) o Rafa
% SR 9T g &% T B TEA1Y |

(1) (a) SAFMER (b) SEFARE
(2) (a) gfmaEl (b) SEFMGTE
(3) (a) it (b) wfeT=mt
(4) (a) SEFUid (b) SRITIER

T Lot ga 11§ e shifsre:
il T I
Uk W & & a1 ot L AT HHT
Jehfeach HET (S 1a)
F, g &1 awgrsi . T
AT T h & Y CSIEEY)
el
F, daia e fooddt @t . welw
S o AT HHTI
ey H R el IV.  wdyeome
Eakstes| el
(& %)
e few o fqsedt & @ & SO @ g
(1) A-IL B-I, C-III, D-IV
(2) A-IIL B-1V, C-1, D-l
(3) A-1V, B-III, C-11, D-1
4) A-1, B-II, C-III, D-IV
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Formation of interfascicular cambium from fully
developed parenchyma cells is an example for
(1) Redifferentiation

(2) Dedifferentiation

(3) Maturation

(4) Differentiation

Which of the following is an example of
actinomorphic flower?

(1) Cassia (2) Pisum

(3) Sesbania (4) Datura

Hind II always cuts DNA molecules at a particular
point called recognition sequence and it consists
of:

(1) 6bp
(3) 10bp

(2) 4bp
(4) 8bp

Which of the following are required for the dark
reaction of photosynthesis?

A. Light B. Chlorophyll
C. CO, D. ATP
E. NADPH

Choose the correct answer from the options given
below:

(1) B,CandD only

(2) C,DandE only

(3) DandE only

(4) A,BandC only

Given below are two statements:

Statement I : Bt toxins are insect group specific
and coded by a gene cry [Ac.

Statement II : Bt toxin exists as inactive
protoxin in B. thuringiensis. However, after
ingestion by the insect the inactive protoxin gets
converted into active form due to acidic pH of
the insect gut.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement II is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

The equation of Verhulst-Pearl logistic growth is
dN [K-N
ar m{ K } '
From this equation, K indicates:
(1) Biotic potential
(2) Carrying capacity
(3) Population density
(4) Intrinsic rate of natural increase

The capacity to generate a whole plant from any
cell of the plant is called:

(1) Micropropagation

(2) Differentiation

(3) Somatic hybridization

(4) Totipotency
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Tﬁﬁmﬁﬂ@aﬁﬁﬁm@%mﬁaw
gﬂﬁfﬁﬁ %1 T IETEL & |

(1)

(2) tfgde

(3) uftyees

4) fave

Frrefafaa & & #F a1 et (teEmEe) 7o

%1 Ueh SATELT & 7

(1) a@Rmr () uEEH

(3) @afrar 4) srga

Hind 11 St sl &l dad Ueh f1aa foig av drean

% T arfverr o (Friie dieam) ed 2, ok

RIS

(1) 6bp (2) 4bp

(3) 10bp (4) 8bp

TeBTITE AT ! STETCT SATHshaT & forg frrforiaa & &

fehvTan STTagTrehdT Bl & 7

A. WIS B. artea (qofsha)
C. CO, D. ATP

E. NADPH

T fau 1o sl & & @& IT¢ @ g

(1) %a@ B, C 3R D

(2) wa@ C,D 3R E

(3) %a@ D & E

(4) waa A,BsixC

e 31 e fiw T &

Fa 1 : Bt anfay (2iferam) wie a9e fafie 2 ¥ oix
B! S cry [Ac &0 geaiad (Hrs) feram S 51
& 11 : Bt ey (2ifea) & ¥ fafepa

UTBfaY (WIeielieras) & &9 § 91T &1d & | Jamy, e
mwﬁmaﬁ%wﬁ%mmﬁw@ﬁaﬁﬂﬂ)
Bz B i § orctd pH BN % RO qhpa v §
gfafda & o ¥

Wﬁwaﬁ%mﬁ:ﬁ%%@qﬁwﬁﬁ@mﬁ

(1) %I 1 3T a1 <Y orae & |
(2) ®uT 19 T AfehT B 11 o 2 |
(3) %A | 3rEc & AfehT B 11 9 1
(4) HI 1 3T Bu 11 S T &

éw—qﬁqﬁgwg%(ﬁﬁiﬂzmu‘ra)maﬂﬁw
2 ofi)

K
's{aﬁwﬁK%r%am%

(1) <ifas awan

(2) oTTeT &Han

(3) wEEE g A

(4) vplas ghg @ 7= 3T

1Y b TRl Y ifTent & gl U1ey ol faesiad & &
AHAT BEAT! &

(1) g&vags (ATEhYIe)

(2) favem

(3) I HHUT

(4) qoferermar (Srore)
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The type of conservation in which the threatened
species are taken out from their natural habitat
and placed in special setting where they can be
protected and given special care is called;

(1) Biodiversity conservation

(2) Semi-conservative method

(3) Sustainable development

(4) in-situ conservation

The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
(1) Acetylase

(2) Permease

(3) Polymerase

(4) Beta-galactosidase

Spindle fibers attach to kinetochores of
chromosomes during
(1) Metaphase
(3) Telophase

(2) Anaphase
(4) Prophase

Identify the part of the seed from the given figure
which is destined to form root when the seed
germinates.

(1) B
(3) D

Q) C
4 A

A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Structural gene, Transposons, Operator gene
(2) Inducer, Repressor, Structural gene

(3) Promotor, Structural gene, Terminator

(4) Repressor, Operator gene, Structural gene

How many molecules of ATP and NADPH are

required for every molecule of CO, fixed in the

Calvin cycle?

(1) 2 molecules of ATP and 2 molecules of
NADPH

(2) 3 molecules of ATP and 3 molecules of
NADPH

(3) 3 molecules of ATP and 2 molecules of

NADPH

(4) 2 molecules of ATP and 3 molecules of

NADPH
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T BT I8 b forew faeager sfa & 3%
YT i TaTaTe § S1eX Meprae fasty e (&fém)
H T ST & STt 3 G & Tobell & ST 3! faghy
@A BT AT &, T8 BEATT &

(1) Sratafaear g@xew

(2) ordf—gvel fafy

(3) waqa faem@/Eart fawm

(4) ™ g

Strarpsti & ghg Aream A SuRad W Bl i §
@1 foparm g sfifia foman siman 2

(1) urdfeera

(2) wxiteE

(3) drEEE

(4) IT-AFEES

% g9 fdsd wIEad TS % HEAADBR A
SERIGES
(1) weamERen (Wemthe) (2) dedamaseT (TATh)
(3) SiTeE (SAre) (4) qataw (W)

fou T fasr o 97 & I9 9T B IR BITT S S
% 3P B X T &I S &

ST (DNA) ¥ STE (ZTafher) 378 Bl wrafie
Y Y ST % A & g i fopan o § 8ix
Y Hedyare! (FUE) 3 Sreivar! (sew &m) )y
% geu T/que

(1) ETEATHD S, ZEUIE, FeTedh (SIeR) S
(2) F=sgan (v, dews (FE), dxaTets e
(3) YHIX, GG SiF, FH9H ()

4) W(W),W(W)Gﬁ?,m

HivaT g ¥ AReipd 39 a CO, & TS 3T &
ﬁﬂQ@TP@TNADPH%WW&ﬁH&WSﬂW
Bl 5 7

(1) ATP % 3 & 3k NADPH & 2 317

(2) ATP % @ &1 3t NADPH & 3 a17]

(3) ATP & A= &1 3t NADPH % 2 a17]

(4) ATP % 3 &1 3t NADPH & 3 a17]
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Given below are two statements:

Statement I : Parenchyma is living but
collenchyma is dead tissue.

Statement I1 : Gymnosperms lack xylem vessels
but presence of xylem vessels is the characteristic
of angiosperms.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement II is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

Auxin is used by gardeners to prepare weed-free
lawns. But no damage is caused to grass as auxin
(1) promotes abscission of mature leaves only.
(2) does not affect mature monocotyledonous

plants.
(3) can help in cell division in grasses, to
“4)

produce growth.

promotes apical dominance.
In a plant, black seed color (BB/Bb) is dominant
over white seed color (bb). In order to find out
the genotype of the black seed plant, with which
of the following genotype will you cross it?
(1) bb (2) Bb
(3) BB/Bb (4) BB

Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:

(1) Feedback inhibition

(2) Competitive inhibition

(3) Enzyme activation

(4) Cofactor inhibition

Match List I with List II
List I

Clostridium
butylicum
Saccharomyces
cerevisiae
Trichoderma
polysporum
Streptococcus sp. IV.  Cyclosporin-A
Choose the correct answer from the options given
below:

(1) A-IL B-1V, C-1II, D-1

(2) A-IIL, B-I, C-IV, D-1I

(3) A-1V, B-L, C-II, D-II

(4)  A-IIL, B-I, C-II, D-IV

List IT
I. Ethanol

I.  Streptokinase

III. Butyric acid

List of endangered species was released by-
(1) WWF (2) FOAM
(3) IUCN (4) GEAC

R6_Hindi+English |

29

126 9 &1 %o few M €

127

128

129

131

o 0 = »

o 1 2 9gde Toild dih siuiad Jd S & |
w11 : Toererdg (mqaé’rﬁw‘r) # 3T& arfedra
T Bt & AR aT afeantan @ SuRat T

(eTrgadiferay) @i fagroar 31
wgiaaa:wﬁéamﬁ @ Ty fepedt & & wE I

(1) Eﬁﬂﬂl@ﬂ?aﬁuﬂl?ﬂﬂ‘fm%
(2) ®uE 19T T Wik Bu 11 318 2|
(3) %A 3rE ¥ Wb B 11 9 1
(4) ®u 18X a1 31 9 2|

G- Sirar R & & T A sifferas

wwm%léﬁﬂsﬂﬁwﬁraﬁéaﬁrﬁﬁ

¥ wifer atfera:

(1) mgﬁnwﬁﬁ%ﬁwmﬁﬁm
HIT B

(2) ITEH THATSTIST YIGUT Bl THIIT TEf BT 8|

(3) =TEl ® BTyt faTe N HeTdeh &1 Tabhdl & forad

4)

gfg & 9|

QS wreTTeraT el HieTed s & |
% UGy H, 919 &1 Hral &1 (BB/Bb) &% 11 (bb)
T JHTE! % | Il ST Tl 16T ol SH9eY 37d 6 &
o, oty ST e f=faiad o 9 fba siwed &

qIeY &% |1 HU 7
(1) bb (2) Bb
(3) BB/Bb (4) BB
AN G G SIESSINTE Tiigq &l a9
%l IGT IATEX |
(1) ®redew gea
(2) wfeedl sgue
(3) U~TEH Gl
(4) BIHFT (TEHRH) FaoT
130 & [ &1 gt 11 & Bram st
T 1 T 1
FALISTT . wiHa
m’ II. wW<mEd
et
ZrsaisHar I1I. qglsiiﬂiw
T
Beldiad o, IV. wEaeiiE-A
%mmﬁwﬁﬁﬁmwﬁgﬁq:
(1) A-IL B-1V, C-III, D-I
(2) A-IIL B-1L, C-1V, D-lI
3) AIV,BI,CIH, D-II
(4) A-II1, B-I, C-1I, D-1V
ﬁmﬂﬂ?ﬂ (Ts=te) wiehrst or gt ERARAREAG
|
(1) WWF (2) FOAM
(3) IUCN (4) GEAC
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A.

B.

C.

D.

ooy

List I List IT

Nucleolus I.  Site of formation
of glycolipid

Centriole II.  Organization like
the cartwheel

Leucoplasts III.  Site for active
ribosomal RNA
synthesis

Golgi apparatus ~ IV. For storing nutrients

Choose the correct answer from the options given
below:

(1) A-IL B-III, C-I, D-1V

(2) A-II, B-1V, C-11, D-1

(3) A-L, B-II, C-1II, D-IV

(4) A-III, B-II, C-1V, D-1

Match List I with List I1
List I List IT
Rhizopus I.  Mushroom
Ustilago II.  Smut fungus
Puccinia III. Bread mould
Agaricus IV. Rust fungus

Choose the correct answer from the options given
below:

(1) A-L B-IIL C-II, D-IV

(2) A-II, B-II, C-I, D-IV

(3) A-1V, B-III, C-1I, D-1

(4) A-IIL B-IL, C-1V, D-I

Identify the set of correct statements:

A. The flowers of Vallisneria are colourful and

produce nectar.

The flowers of waterlily are not pollinated

by water.

In most of water-pollinated species, the

pollen grains are protected from wetting.

Pollen grains of some hydrophytes are long

and ribbon like.

E. In some hydrophytes, the pollen grains are
carried passively inside water.

Choose the correct answer from the options given

below:

(1) A,B,Cand D only

(2) A,C,DandE only

(3) B,C,DandE only

(4) C,DandE only

B
C.
D

Bulliform cells are responsible for

(1) Protecting the plant from salt stress.

(2) Increased photosynthesis in monocots.

(3) Providing large spaces for storage of sugars.
(4) Inward curling of leaves in monocots.
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132 g 1 o1 gt 1§ B st

T 1 T 1l
A. gFieTad (Bfs®) . EHians & a9
HT WA
B. afzaiw II. gl &% qfew San
SRS
C. e . afera TEaramy
ST, G
CARO K]
D. Ticsll STl IV. U9l & ST
% forg
e few U fqeedt 7 9 @ SO @ g
(1) A-IL, B-IL, C-1, D-IV
(2) A-IIL, B-1V, C-II, D-I
(3) A-L B-II, C-III, D-IV
(4) A-II, B-II, C-1V, D-I
133 ot [ o1 g 11 & fre sifsa:
Tl & 1L
A. TEHTE I. H&H
B. s II. &< (43) Ha®
C. giifrar Il S8« U A Tha
D. gmiea IV. & () s
T fou o faehedl & @ w2 I @l gﬁrq

(1) A-L, B-IIL, C-II, D-IV
(2) A-IIL, B-II, C-I. D-IV
(3) A-IV, B-III, C-II, D-I
(4) AL, B-II, C-1V, D-I

TE HYUA b T Bl TEATL:
A.

134

B 2N
B.
T T
C.
Y g (@9) & )
D.
Hid (R ) 39 81 2

E. %8 S aGWal (S53I63ed) W, TR &l 5id

% o & kg &0 9 o San 9 §
T fau 1o et & & @2 sa% & g
(1) %aa A, B, C 3D
(2) wa@A,C, D3R E
(3) ®a@ B,C,DaRE
(4) ®aa C,DaRE

SaEE® HIEHTS (FAHH T) ST Bl &

(1) dIeY &I @@l q91d § I9™ & feg|

(2) UHISHEEET (AH®EE
% fau)

135

(3) srharel % e & oy it W vae B
) ® ufaal & SiER @l 3T

% fam)
(4) UmSSEBEET (FFhEd
T & gl
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Botany : Section-B (Q. No. 136 to 150)

136

137

138

139

140

R6

Match List I with List I1
List I List IT
(Types of Stamens) (Example)
A. Monoadelphous 1.  Citrus
B. Diadelphous II. Pea
C. Polyadelphous II. Lily

D. Epiphyllous IV. China-rose
Choose the correct answer from the options given
below:
(1) A-1V, B-I, C-II, D-III
(2) A-L B-II, C-1V, D-III
(3) A-IL, B-I, C-1V, D-II
(4) A-1V, B-II, C-1, D-1I

Identify the step in tricarboxylic acid cycle, which
does not involve oxidation of substrate.

(1) Succinic acid — Malic acid

(2) Succinyl-CoA — Succinic acid

(3) Isocitrate — a-ketoglutaric acid

(4) Malic acid — Oxaloacetic acid

The DNA present in chloroplast is:
(1) Circular, double stranded

(2) Linear, single stranded

(3) Circular, single stranded

(4) Linear, double stranded

Match List I with List II
List I
Frederick
Griffith
Francois Jacob
& Jacque
Monod

Har Gobind
Khorana
Meselson &
Stahl

Choose the correct answer from the options given
below:

(1) A-II, B-1V, C-1, D-1I

(2) A-IL, B-III, C-1V, D-1

(3) A-1V, B-1, C-I1, D-11I

(4) A-lI, B-11, C-1, D-1V

List IT
I.  Genetic code
II. Semi-conservative
mode of DNA
replication
III. Transformation

IV. Lac operon

Which of the following are fused in somatic
hybridization involving two varieties of plants?
(1) Somatic embryos

(2) Protoplasts

(3) Pollens

(4) Callus
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136

oowp

137

138

139

A.

140

Al 1 o1 gt 1 & free it
T 1 T 11
(I & 7R) (erE)
Thaadl (AMusesa) 1 faga
feddl (sEusw®q) . w1
Tl (TS Tha) 11, et
arfeoofi/afed &= IV. T AN/ [e8d
:ﬁ%r feu T fopeai @ W& 39T @B g
(1) A-1V, B-I, C-I1, D-IIT
(2) A-L B-II, C-1V, D-1II
(3) AL B-I, C-IV, D-lI
4) A-1V, B-II, C-I, D-1II
ZIShISIRIh 7RI Tsh o S TN ] T BIfTT,
e foparemt/aeee &1 eI o el 2 &

(1) Tt ot — Afered arT
(2) THRAEA-CoA — Ta-lh 8T

(3) omzEEEIE > o- T
(4) Afdw et — FTRATIEH =T
Fhawas (FRRe) ¥ Iufad DNA/STAT 2:
(1) g, fatos
(2) e, HA®
(3) TN, ThHATID
(4) as, e
T Lt g 11| el shifere:
T Tl
hsie fiftee [ oTafis %2
(Smfew Bre)
Yoplzq She Ud II. 3wy gfagfaa
Wh WS T erd—ael ugfa
T S @R . iz
HYW@EY g & IV. d%—auas
ﬁ%%qwﬁaﬁ@fﬁ%ﬂ?lwaﬁgﬁq
(1) A-III, B-1V, C-1, D-II
(2) A-II, B-II, C-1V, D-I
(3) A-1V, B-1, C-IL, D-III
(4) A-II, B-II, C-1, D-IV
el @l &l feheAl bl GRATAT BT IR Bl Gebr &
Frrfafad & € fopTer g g & 7
(1) e gor
(2) U
(3) WrHM
(4) e
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142

143

A.

B.

D

Identify the correct description about the given
figure:

(M

()
3)

4

Water pollinated flowers showing stamens
with mucilaginous covering.
Cleistogamous flowers showing autogamy.
Compact inflorescence showing complete
autogamy.

Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

Given below are two statements:

Statement I : In C; plants, some O, binds to
RuBisCO, hence CO, fixation is decreased.
Statement I : In C, plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement II is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

Match List I with List II

List I List IT

Robert May I.  Species-Area
relationship

Alexander von II. Longterm

Humboldt ecosystem
experiment using
out door plots

Paul Ehrlich III. Global species

diversity at about

7 million

Rivet popper
hypothesis

Choose the correct answer from the options given
below:

(1) A-IIL B-I, C-IV, D-II

(2) A-L B-II, C-1I, D-IV

(3) A-IIL, B-1V, C-1I, D-1

(4) A-IlL B-III, C-I, D-IV

. David Tilman IV.
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141 feu wu fas & 9 faaer &l ggar:

142

143

A.
B

M
)
3)
)

ST STTET g Yobaal ol qeMd 3T S
LUK

™
R (ST Bl IS Y ST
(TR TE) g
ol TehgrEe (TSR @i q9rid gu ded
(TvIere) JTehd
gagHIad Yol &l a91id 3T a1g TXIRTd e

Dl YIshH

a1 e few o R

Fo 1 : C, rgdi #, 3% O, & (RuBisCO) & 75
B I R, o1 CO, ARThieToT &9 & STl 3 |

Fu 11 : C, el &, woiqedaes SIS 9gd &H
THITeTET Yelfd Bl § Wi qArsg Hiesd
TeBII9aE Uaiid T8l Bl & |

U HUAL % e H, fau T fadmedt # 9§ wE saT
&l g
(1) %991 3T B 11 <Y orEe & |
(2) ®uT 19 T AfepT A 11 o7 7 |
(3) U1 3E ¥ Wi bu 11 9 2|
(4) HI1 3T Bu 11 S T &1

T Lot ga 11§ e shifsrg:

Tl T 11
KL ST &rThe Gee
A= a1 BTSN TS h
1= [ IYGIT & Sratare
IS IREAGE
e
Afyees f fafereman
THT 70 1
(7 fferam) &
IV. fEe—amy

i {ehed T

ra fau T fysedt & & 7 ST @l ghw:
(1) A-II, B-1, C-IV, D-lI
(2) A-1, B-IIL C-II, D-IV
(3) AL B-1V, C-I1, D-I
(4) A-I, B-III, C-1I, D-IV

L.
II.

LG RYED 1.

sfae fomam
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145

146

147

In an ecosystem if the Net Primary Productivity
(NPP) of first trophic level is

100x (kcal m2 ) yr_1 , what would be the GPP
(Gross Primary Productivity) of the third
trophic level of the same ecosystem?

(1) x (keal m™%) yr™!
(2)
(3)

10x (kcal m_z) yr_1
100x

— (kcal m_2) yr_1
3x

4 % (kcal m_z) yr_1

Which of the following statement is correct

regarding the process of replication in E.coli?

(1) The DNA dependent RNA polymerase
catalyses polymerization in one direction,
thatis 5°—3°.

(2) The DNA dependent DNA polymerase
catalyses polymerization in 5 — 3’ as well
as 3’ — 5’ direction.

(3) The DNA dependent DNA polymerase
catalyses polymerization in 5° — 3’ direction.

(4) The DNA dependent DNA polymerase
catalyses polymerization in one direction
that is 3° > 5°.

Match List I with List I1

List I List IT

Citric acid I.  Cytoplasm

cycle

Glycolysis II.  Mitochondrial
matrix

Electron III. Intermembrane

transport space of

system mitochondria

Proton IV. Inner

gradient mitochondrial
membrane

Choose the correct answer from the options given
below:

(1) A-IL B-I, C-1V, D-I1I

(2) A-IL B-1V, C-1, D-II

(3) A-IV, B-III, C-II, D-I

4) A-L B-II, C-lII, D-1V

Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Gibberellin (2) Cytokinin

(3) Abscisicacid (4) Auxin
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144

145

146

w

147

ferdll aTftRafaes o (Saitaeed) & afs gaw qidl '

%1 2 yrrfte SeraT (NPP) 100x (kcal m™2) wfRiad
¢ 99 sot witfRafas o % g 9t @ & GPP
(Tpet WAt IATEH) HIT BRI ?

(D) x (keal mfz) EINCH

(2)  10x (kcal m™2) whEd
100x

3x

(kcal mfz) PIREL]

3)

4) % (keal m™2) g

gz # afagpiaas (Yiche™) i Ufishar & daw H

frefafaa F @ s AT eaT @@ 2 7

(1) Sroay frefR emRueT (RNA) 9reimd T o
H AT S° — 3" F qgABIBT Bl AN BT S |

(2) S T ST TeEE 57— 37 % qg—ary
3755 faem H W IgADbIB0T Bl ST BT
2

(3) FuAn R diug e 5030 faen A
FEADIBIT Bl ST BT & |

(4) SrAg (DNA) i e g e faen &
Tl 3> — 5" | TABIBIT Bl IGA BT & |

T [t g 11§ el sifere:

T Tl

afem ora-ase 1. dilTeEeE

RUECARIRK] Il ArsZrpitgan dfee

EEran e R e S ) ) A o o e deo

REENEAR ARSI C GRS

faeew (3=TH™IN) ST

I gaurar Hradl A1geipiaar
Bl

T feu 1o fqsedt & & @& SO¢ @ g

(1) A-II, B-1, C-1V, D-III

(2) A-IIL, B-1V, C-I, D-1I

(3) A-1V, B-III, C-II, D-I

(4) A-lL B-II C-III, D-IV

Iv.

T %! wad H Frfaiad urqy ghg et § & faae
fosgehra & | a1 @ T8 58 Wl &, e waaey

3t & ghg I & 7
(1) TS (2) TEIHEEEH
(3) usHItA® ov (4) e
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148 Read the following statements and choose the set
of correct statements:
In the members of Phaeophyceae,

149

150

aw

A.

B.

Asexual reproduction occurs usually by
biflagellate zoospores.

Sexual reproduction is by oogamous method
only.

Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyll.
Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given
below:

(M
)
3)
4

B, C, D and E only
A, C, D and E only
A, B, C and E only
A, B, C and D only

Match List I with List IT

oSow»

List I1

Twisted aestivation
Perigynous flower
Drupe

Marginal placentation

List I

Rose L
Pea 1.
Cotton I11.
Mango IV.

Choose the correct answer from the options given

below:

(1) A-L B-II, C-III, D-IV
(2) A-1V, B-II, C-II, D-I
(3) A-II B-IIL, C-1V, D-I
(4) A-IL B-1V, C-1, D-III

Match List I with List II
List I
GLUT4 L.
Insulin II.
Trypsin 1.
Collagen IV.

Choose the correct answer from the options given

below:

(1) A-L B-II, C-1II, D-IV
(2) A-IL B-IIL, C-1V, D-I
(3) A-IIL, B-1V, C-1, D-II
(4) A-1V, B-1, C-11, D-1II
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List IT

Hormone

Enzyme
Intercellular
ground substance
Enables glucose
transport into cells
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148  fr=fdiad Haal &l Uiy ik §el Sl & 4 Bl gr:

149

Rraersdl & dewi |,

A. it 59 g fesmemsdt SR (st =@
FrTUpei) % &R B & |

B. fe 999 haa fawgme (Serme) fafy
BT

C. dfud @ #alesse & &9 A ear & o Aierw
3TaT AHMI 2 |

D. UT M I & ol quieiia/drined a, ¢
3R hAIfeArze qan SFafhd 1

E. e sifdresret  agardr fafd e &, i e
%I 3T UTT: TfeoT & TTafel Smaer § anaid
Bl 7

ra fau T fysedt & & W ST @l g

(1) ®aa B, C,DsiXE
(2) ®aa A, C,DsiRE
(3) &aw A, B, C 3R E
(4) Faw A, B, C3irRD

T [ o1 gl 1 9§ e s

SEeN =

Tl
T L.
HX
E2IN]
AH

'{fﬁII
rafid qwed fomama
g g

HSA BeA/gd

Wi SeteaE

ﬁiﬁ%qwﬁaﬁ@fﬁ%ﬂﬁwaﬁgﬁq

(M
)
3)
4

A-l, B-I1, C-1I, D-IV
A-1V, B-1I, C-I1, D-I
A-11, B-III, C-1V, D-I
A-IL, B-1V, C-I, D-III

150 &= [ 1 gt 11 & e st

w

T

GLUT-4 L.

g
feftem

CARER]

T 11

T

RSSIEL
ST
e e
HITTHS H D
% STEe B gua
EEIGIE

e s o Rt § @ W S A g

(M
)
3)
4

A-1, B-II, C-111, D-IV
A-11, B-III, C-1V, D-1
A-I11, B-1V, C-I, D-lI
A-1V, B-1, C-11, D-1II
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Zoology : Section-A (Q. No. 151 to 185)

151

152

153

154

Match List I with List II :
List I List IT
(Sub Phases of (Specific
Prophase I) characters)
Diakinesis I.  Synaptonemal
complex formation
Pachytene II. Completion of
terminalisation of
chiasmata
Zygotene III. Chromosomes
look like thin
threads
Leptotene IV. Appearance of
recombination
nodules
Choose the correct answer from the options given
below :
(1) A-I, B-II, C-1V, D-III
(2) A-IL, B-1V, C-1, D-III
(3) A-1V, B-III, C-II, D-I
(4) A-1V, B-II, C-III, D-I
Consider the following statements :
A. Annelids are true coelomates
B. Poriferans are pseudocoelomates
C. Aschelminthes are acoelomates
D. Platyhelminthes are pseudocoelomates
Choose the correct answer from the options given
below :
(1) Aonly (2) Conly
(3) Donly (4) Bonly
Match List I with List II :
List I List IT
A. Pons I.  Provides additional
space for Neurons,
regulates posture
and balance.
Hypothalamus II. Controls
respiration and
gastric secretions.
Medulla III. Connects different
regions of the
brain.
Cerebellum IV. Neuro secretory
cells
Choose the correct answer from the options given
below :
(1) A-III, B-1V, C-I1, D-1
(2) A-l, B-III, C-II, D-IV
(3) A-IL, B-I, C-1II, D-IV
(4) A-II, B-IIL, C-1, D-IV
Which of the following factors are favourable for

the formation of oxyhaemoglobin in alveoli?
(1) High pO, and Lesser H" concentration

(2) Low pCO, and High H" concentration

(3) Low pCO, and High temperature

(4) High pO, and High pCO,
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151

152

153

A. g

B.

C.

D.

154

%ﬁﬁlaﬁq\%ﬁll%ﬁwagﬁﬁﬁaﬁf
T 11

q;ﬁaw L&y smmen)  (fafame o)

[ et aftag
CaRELIL
PHITSH Bl
ERIRIEEERUEIE|
T g GRS
feaa &

o st

feas <t €
e faepedt & 91 IR @1 999 BA:
(1) A-l, B-II, C-1V, D-III
(2) A-lL, B-1V, C-1, D-11I
(3) A-1V, B-1II, C-II, D-I
(4) A-1V, B-II, C-III, D-1I

= HaAl oY faam &

A. v g I Ea ¥

B. W% %2 TEM B §

C. UwharidieT oE™ e &

D. wRfwide e Tea Ea ¥
e Tasbeal & € TE1 K &1 99 B
(1) %aa A (2) ®aa C
(3) waw D (4) Haw B

Tt [ @t g4l 11 % @ gAfad wi—

T 1 T 11
arfafie @™ yem
B &, Rafa ok
SECENREER
HIAT S
9T 31T o &ral
CARNEIEREC TGRS
T & faf=
qIT el et o
et 3

G RRIESIEn IV. dfremamd sifsmeed
= fadedl & TE 3O &1 99 &
(1) A-III, B-1V, C-I1, D-1
(2) A-1, B-III, C-II, D-IV
(3) A, B-1, C-III, D-IV
(4) A, B-III, C-1, D-IV

Fies! & 71 & o DI o T2 i EMraree g9
o foQ s 2 ?

(1) == pO, suengd &7 H' dizan

(2) &9 pCO, wd vz H' |igd

(3) @" pCO, Ud I=d ATIhA

(4) 3= pO, wd = pCO,

II.
1.

Iv.

L.

HECIDEEE
Eeeull
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155 Following are the stages of cell division :

156

A. Gap 2 phase B. Cytokinesis

C. Synthesis phase D. Karyokinesis

E. Gap 1 phase

Choose the correct sequence of stages from the
options given below :

(1) E-B-D-A-C (2) B-D-E-A-C

(3) E-C-A-D-B (4) C-E-D-A-B

Three types of muscles are given as a, b and c.

Identify the correct matching pair along with their
location in human body :

(a) (b) (C) i
Name of muscle/location
(1) (a) Skeletal - Triceps
(b) Smooth - Stomach
(c) Cardiac - Heart.
(2) (a) Skeletal - Biceps
(b) Involuntary - Intestine
(c¢) Smooth - Heart.
(3) (a) Involuntary - Nose tip
(b) Skeletal - Bone
(¢) Cardiac - Heart.
(4) (a) Smooth - Toes
(b) Skeletal - Legs
(c) Cardiac - Heart.

157 Match List I with List IT :

158

0w

List I List IT

Down’s syndrome 1. 11th chromosome
a-Thalassemia II.  “X’ chromosome
B -Thalassemia III. 215 chromosome
Klinefelter’s IV. 16t chromosome
syndrome

Choose the correct answer from the options given
below :

(1) A-IIL, B-III, C-1V, D-1

(2) A-II, B-1V, C-1, D-II

(3) A-1V, B-I, C-II, D-III

(4) A-L B-II, C-1II, D-1V

Which of the following are Autoimmune
disorders?

A. Myasthenia gravis

B. Rheumatoid arthritis

C. Gout

D. Muscular dystrophy

E. Systemic Lupus Erythematosus (SLE)
Choose the most appropriate answer from the
options given below :

(1) A,B&Eonly (2) B,C&Eonly

(3) C,D&Eonly (4) A,B&Donly
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155 <rd wifdtent faume &r sraremd &1 T8 &
A. 92 graeen B. wifdmhEe faum
C. G yraeen D. s faumH
E. 991 grazen
o fapedl & 9 Srarenati & 92T BH B TgT B
(1) E-B-D-A-C  (2) B-D-E-A-C
(3) E-C-A-D-B (4) C-E-D-A-B

156 a,bud c® & H A Y &I Ushl &1 715 8 | gAteaq
wﬁmwsﬁﬁmﬁuﬁaﬁwﬁq

(1) (a) e — Bfdr

(b) et — smmeg
() &wW-&F
(2) (a) waEE — fERres
(b) smfezd — ot
(c) fussl — &<
(3) (a) smfwed — e &1 AT
(b) e — TRy
() W&
(4) (a) ol — uriTie
(b) B — 20T
() &wW-&d
157 &t Lot gt 1 & arer gafed sa-
T T 11
A. sted fagm L lla o
B. o-deifEn I X g
C. B-dadifman 1. 21t g
D. FgTheeR g™ IV. 16at o
et forehedt & TE1 ST &1 999 &

(1) A-IL B-IIL, C-1V, D-I
(2) A-IL B-1V, C-I, D-II
(3) A-1V, B-I, C-1I, D-III
(4) A-L B-IL, C-II, D-IV

158 =1 & % w@wiaven faer € 7

gt Afaw
wHeATS GiY 9N

(1) %aw A,BsiRE (2) %aw B, CGﬂTE
(3) &a@ C,DATE (4) Faw A, BarRD
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161

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : FSH acts upon ovarian follicles in

female and Leydig cells in male.

Reason R : Growing ovarian follicles secrete

estrogen in female while interstitial cells secrete

androgen in male human being.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true but R is NOT the
correct explanation of A.

(2) Aistrue but R is false

(3) A s false but R is true

(4) Both A and R are true and R is the correct

explanation of A.

Given below are two statements :

Statement I : In the nephron, the descending limb
of loop of Henle is impermeable to water and
permeable to electrolytes.

Statement II : The proximal convoluted tubule
is lined by simple columnar brush border
epithelium and increases the surface area for
reabsorption.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement II is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Breast-feeding during initial period

of infant growth is recommended by doctors for

bringing a healthy baby.

Reason R : Colostrum contains several antibodies

absolutely essential to develop resistance for the

new born baby.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both A and R are correct but R is NOT the
correct explanation of A.

(2) A iscorrect but R is not correct.

(3) A isnot correct but R is correct.

(4) Both A andR are correct and R is the correct

explanation of A.
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I 31 HeF e T 2 U sfvewe A 9O gEa
FRTR ¥

SAHAT A : THIETT HIGT § i1 gea! o X H
ST BT IR BT BT & |

F R : 76T ¥ ghg B 3T SRl g T
e &Y € STaieh Wrea A Sl B UgreH
Hifad Bl £ |

YT f&T U BT % Weh1eT H A U T faehedt 9 wE
TAT BT I B

(1) S A SR R 9@ € @l R, A %1 981 TWEIB
T

A 99 % Al R a@@ 7

A 39 T Wik R 90 %1

3T A 3T R 9 € 8T R, A o1 981 W 3 |

)
3)
)

e 31 e few U B

Fo | : R H ST W Bl START! STl 5T o {1
SATOTR & S g —araeed & g arer= §1

o 11 : TR Hatad el 93 THTHR 991 ST
SYHAT ¥ T Bl & S GIAAAYT % g qae &
%! T 2 |

I fau 7T Bl % garst # 1 faedt @ €@ I
1 TIT B

(1) < %A 1 iR B 11 eree 1

(2) ®uF 19 ¢ Al w11 o7 7

(3) ®UA | 3rE & Afeh B 11 9 1

(4) I B X Hoa 11 T &

I a1 B o T 3 ue s A iR gEa
FTTR ¥

AR A : f1g] & @ o & g et gfe &
SN B H $B GIT q% S[deT (319] Bl WA
H Hl TATE < & |

FRO R : ®IAEH § &3 YK & FiaEl eid & o
Feta farg] # URoer &mar SO BT & fAg I
AMETH BN & |

IUT faU U Al % abteT ® A fqu U fawmedt @
TIH T AL B T9T BAU:

(1) <Y A STt R 921 € @fehT R, A &1 921 Wi
T

A & ¥ Afeh R Tera 31

A TTEd & Wit R T 1

T A SR R @21 ¥ 3R R, A o1 921 WEIhAur 2 |

)
3)
)
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162 Match List I with List IT :

oo

ListI List II

Cocaine I.  Effective sedative in
surgery

Heroin 1.  Cannabis sativa

Morphine L. Erythroxylum

Marijuana IV.  Papaver somniferum

Choose the correct answer from the options given
below :

(1) A-L, B-1II, C-II, D-IV
(2) A-lL, B-L, C-11I, D-IV
(3) AL B-1V, C-1, D-1I
(4) A-1vV, B-III, C-1, D-1I

163 Match List I with List IT :

oSow

List I
Pterophyllum
Myxine

List I1
Hag fish
Saw fish
Pristis III. Angel fish
Exocoetus IV. Flying fish

Choose the correct answer from the options given
below :

(1) A-IIL B-L, C-II, D-IV
(2) A-IV, B-I, C-II, D-III
(3) A-IIL B-II, C-I, D-IV
(4) A-IL B-I, C-III, D-IV

I.
II.

164 Match List I with List II :

165

166

SRl

List I List IT
Pleurobrachia I.  Mollusca
Radula II.  Ctenophora
Stomochord III. Osteichthyes
Air bladder IV. Hemichordata

Choose the correct answer from the options given
below :

(1) A-IL B-L, C-IV, D-III
(2) A-IL B-1V, C-1, D-III
(3) A-IV, B-IIL, C-II, D-I
(4) A-IV, B-IL, C-1IL, D-I

In both sexes of cockroach, a pair of jointed
filamentous structures called anal cerci are present
on:

(1) 10th segment
(3) 11thsegment

(2) 8t and 9th segment
(4) 5% segment

The flippers of the Penguins and Dolphins are
the example of the

(1) Natural selection

(2) Convergent evolution

(3) Divergent evolution

(4) Adaptive radiation
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162 T [ &t gt 1 % @rer gafed s

Sowp

Gl
Bleh

fetrs

Tl

QITehaT H WHTEl STHE
. @fsq derzar

HifhT . ofreasad

Afcggar IV.  d9ev =i

o1 forehedt & TE1 ST &1 999 &

(1) A-1, B-IL, C-11, D-IV

(2) A-II, B-I, C-I1I, D-IV

(3) A-IIL B-1V, C-1, D-II

(4) A-1V, B-1I, C-1, D-II

L

163 ot [ &1 gt 11 % @1 gafed &a-

OO0 w >

Tl
e
Rrerars

Tl
AR
TR TEAT
Hifteq LEGR
gk EEREL
ﬁwr forepedi § TE ST BT TIT B

(1) A-II, B-I, C-II, D-IV

(2) A-1V, B-1, C-II, D-II

(3) A-II, B-IL, C-1, D-IV

(4) A-IL, B-I, C-III, D-1V

164 T | &1 gt 11 & |y gafad &

165

166

COow>

T
RIS 3T
TafeTEn

Tl

YR

. ISR
WA Il enfeadis

g B IV. s

=1 faspedl & 9E 39 &1 99 &

(1) A-II, B-I, C-1V, D-III

(2) A-II, B-1V, C-I, D-III

(3) A-1V, B-1II, C-II, D-I

(4) A-1V, B-1I, C-II, D-I

foeras & It fomm & ue Sl diige dgag Seaad
1% TErR @@ @ed ¢, SuRyd Bl 8

(1) 103@s (2) ST AT WS W
(3) lld@sw (4) S¥Es W

L.

Yftae ofiT Sife® T & [FTd SaTed &
(1) Wl & &l

(2) tET faswm @t

(3) eET fawrE @t

(4) STFAT fafentr &1
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168

Which of the following statements is incorrect?

(1) Most commonly used bio-reactors are of
stirring type.

(2) Bio-reactors are used to produce small scale
bacterial cultures.

(3) Bio-reactors have an agitator system,

an oxygen delivery system and foam control

system.

A bio-reactor provides optimal growth

conditions for achieving the desired product.

4

Which one is the correct product of DNA
dependent RNA polymerase to the given

template?
3’TACATGGCAAATATCCATTCAS’

(1) 5’AUGUAAAGUUUAUAGGUAAGU3’
(2) 5’AUGUACCGUUUAUAGGGAAGU3’
(3) 5S’ATGTACCGTTTATAGGTAAGT3’

4) 5’AUGUACCGUUUAUAGGUAAGU3’

169

A. Fibrous joints

B.

170

oSow»>

Match List [ with List II :
List I List IT

Adjacent

vertebrae, limited

movement

Humerus and

Pectoral girdle,

rotational

movement

Skull, don’t

allow any

movement

Ball and Knee, help in

socket joints locomotion

Choose the correct answer from the options given

below :

(1) A-L B-1II, C-II, D-IV

(2) A-IL B-III, C-I, D-IV

(3) A-II, B-I, C-1V, D-II

(4) A-1V, B-II, C-11I, D-1

L.

Cartilaginous II.

joints

Hinge II.

joints

IV.

Match List [ with List II :

List I List IT

a-1 antitrypsin I.  Cotton bollworm
Cry IAD II.  ADA deficiency
Cry [Ac III. Emphysema
Enzyme IV. Corn borer
replacement

therapy

Choose the correct answer from the options given
below :

(1) A-IIL, B-I, C-II, D-1V

(2) A-II, B-1V, C-1, D-1I

(3) A-IL B-1V, C-1, D-III

(4) A-IL B-L, C-1V, D-lII
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39

167 T Bu=t & &= 91 Tod & 7
(1) facs® Yo & STt gaitas Ium &

I E

(2) srnfiudeR B AET A ] GaEE % Ided

% foru Sua A w2

(3) U | UHh Feydh e, stiaie Yo

GERCIEINARPER I E RG]
(4) UH AU Fiftsd IATE U™ & T
TG Rafaat vaT e 81

168
TG T & 7
3> TACATGGCAAATATCCATTCAS’
(1) >AUGUAAAGUUUAUAGGUAAGU3’
(2) >’ AUGUACCGUUUAUAGGGAAGU3’
(3) 5>’ATGTACCGTTTATAGGTAAGT3’
(4) 5’AUGUACCGUUUAUAGGUAAGU3’

169 g [ &f g 11 % @rer Faferd wi—

T T 11
A. T gt I feadl s3res,
Aty wifer
B. 3uiiy gw II.  ="RE ud 3|
C. e gfeat 1. ®UTd, HIS T
REEIG
D. %gh @i IV. gz, aeq |
Gftrat FETIAT BT &
e faepedt & 981 IR @1 999 B
(1) A-lL B-IIL C-II, D-IV
(2) A-IL B-IIIL, C-I, D-IV
(3) A-III, B-I, C-1V, D-II
4) A-1V, B-II, C-II1, D-1
170 & [t gt 1 % @rer gafed s
T T 11
A. -1 dafefas I.  %uE Sy
B. sElud II. T TH e
C. dElud . arqesita
D. tugH giqeams IV. o Bash
faferear
ot forehedt & TE1 ST &1 99 &
(1) A-II, B-1, C-I1, D-IV
(2) A-IIL B-1V, C-1, D-lI
(3) A-I, B-1V, C-1, D-III
4) A-I, B-1, C-1V, D-1II
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171

172

173

174

175

R6

Match List I with List II :
List I
Axoneme
Cartwheel
pattern
Crista II. Chromosome
Satellite IV. Mitochondria
Choose the correct answer from the options given
below :

A-1V, B-I1, C-III, D-I

A-I1, B-1V, C-1, D-1I1

A-I1L, B-1, C-1V, D-II1

A-1V, B-111, C-I1, D-I

List IT
Centriole
Cilia and flagella

I.
II.

OO W

Following are the stages of pathway for
conduction of an action potential through the
heart:

A. AV bundle
C. AV node
E. SAnode
Choose the correct sequence of pathway from the
options given below :
(1) A-E-C-B-D

(3) E-A-D-B-C

B. Purkinje fibres
D. Bundle branches

(2) B-D-E-C-A
(4) E-C-A-D-B

Given below are two statements :

Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.
Statement II : The hymen is torn during the first
coitus only.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement II is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

Match List I with List I :
List I
A. Common cold
B. Haemozoin
C. Widal test III. Rhinoviruses
D. Allergy IV.  Dust mites
Choose the correct answer from the options given
below :
(1) A-L B-IIL C-II, D-IV
(2) A-lL B-1, C-11, D-1V
(3) A-IV, B-IL, C-III, D-I
(4) A-IL B-1V, C-111, D-1

Match List [ with List II :
ListI
A. Typhoid
B. Leishmaniasis
C. Ringworm II.  Protozoa
D. Filariasis IV. Bacteria
Choose the correct answer from the options given
below :
(1) A-IV, B-III, C-I, D-II
(2) A-IL B-I, C-1V, D-II
(3) A-IL B-1V, C-1II, D-1
4) A-L B-1I, C-1I, D-IV

List IT
Plasmodium
Typhoid

L.
I1.

List IT
Fungus
Nematode

L.
I1.

_Hindi+English |
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171

172

173

174 @%'aﬁa\zﬁu%swagﬁﬁaarm

175 @%ﬁﬁ@ll%wugﬁﬁﬁﬁ—

Tl [t g 11 & a1 gafad &
Tl

A. FEg
B. @El & ufgu
gy Y

C. fw=a

D. #Hidge Iv. BT
o1 forehedt & TE1 ST &1 999 &
(1) A-1V, B-II, C-II1, D-I
(2) A-I, B-1V, C-1, D-1IT
(3) A-IL, B-I, C-1V, D-III
(4) A-1V, B-III, C-I1, D-1

zea ¥ fopan fawa & dag1 & @t &1 e arawad §:
A. T §EA B. gfehsi dg

C. uwdiyd D. <@ @

E. wauud

1 Taseal o € A1t & GE frehed &1 99T B
(1) A-E-C-B-D (2) B-D-E-C-A

(3) E-A-D-B-C (4) E-C-A-D-B

I < woe fgw e 2

w1 : Aifesg &1 IuRafa a1 sruRafa Hrmt &
fasaaa gas =& 2

Fo 11 : A Bad s €T % S & %l §
I fET U BT % Weh1eT H A fEu T faehedt | we
IR BT TIT B

(1) < Baa 1 &K %o 11 o8

(2) ®uT19A 2 afep & 11 oA 7 |

(3) %A 318 ¥ Afeh B 11 9 1

(4) < HUA 1 R BT 11 FA B |

Tl
A. EE JEH I wifsTd
B. &4 II. <a%Es
C. fasm g . <EAEEE
D. U V. ga faast
=1 faepedl & 9E1 39X @1 99 B

(1) A-L B-IL C-II, D-IV
(2) A-IIL, B-I, C-II, D-IV
(3) A-1V, B-IL, C-1II, D-I
(4) A-IL B-1V, C-III, D-I

T 11

A. TARES L
B. wiemifaar I1. W
C. fored . wresen
D. wEaiuiE IV.  Siramg

1 Tasbeal & 981 AT &1 999 B

(1) A-1V, B-II1, C-1I, D-II

(2) A-II, B-I, C-1V, D-II

(3) A-II, B-1V, C-III, D-I

(4) A-l, B-IL, C-II, D-IV
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176

A. Expiratory

capacity volume + Tidal
volume +
Inspiratory reserve
volume
B. Functional II. Tidal volume +
residual Expiratory reserve
capacity volume
C. Vital capacity III. Tidal volume +
Inspiratory reserve
volume
D. Inspiratory IV. Expiratory reserve
capacity volume + Residual
volume

177

178 Match List [ with List II :
List I List 1T
A. Lipase I.  Peptide bond
B. Nuclease II.  Ester bond
C. Protease III.  Glycosidic bond
D. Amylase IV.  Phosphodiester bond
Choose the correct answer from the options given
below :
(1) A-II, B-II, C-I, D-IV
(2) A-IL B-1V, C-1, D-1II
(3) A-IV, B-I, C-III, D-II
(4) A-1V, B-II, C-11I, D-1
179 Which of the following is not a component of
Fallopian tube?
(1) Isthmus (2) Infundibulum
(3) Ampulla (4) Uterine fundus
180 Match List I with List II :
List I List IT
A. Non-medicated IUD I.  Multiload 375
B. Copperreleasing IUD  II.  Progestogens
C. Hormone releasing [UD 1II. Lippes loop
D. Implants IV. LNG-20

R6_Hindi+English |

Match List I with List IT :
List I List IT

I.  Expiratory reserve

Choose the correct answer from the options given
below :

(1) A-IIL, B-IL, C-1V, D-I

(2) A-IL, B-I, C-1V, D-1II

(3) A-L B-III, C-1I, D-IV

(4) A-IL, B-1V, C-I, D-III

Which one of the following factors will not affect
the Hardy-Weinberg equilibrium?

(1) Genetic drift

(2) Gene migration

(3) Constant gene pool

(4) Genetic recombination

Choose the correct answer from the options given
below :

A-L, B-III, C-1V, D-I

A-1V, B-1, C-11, D-1I1

B-1, C-1V, D-1I

B-1, C-1I, D-IV
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176 T [ &t g 1 & @rer gafed sa-

177

178

179

180

T

A. Fyaas guan

Tl

1. 9ae gaiaa
AT + S
A + 3id: g
i smaad
ST STTEd +
INEEER RS L]

I
TR ST +
3 gaE gaiead

ISR
1 yaw gafda
ST + ST

CIBGE]
=1 fasedl & 9E 39 &1 99 &
(1) A-IIL B-IL C-IV, D-I
(2) A-IL B-I, C-1V, D-III
(3) A-L B-III, C-II, D-IV
(4) A-IL B-1V, C-1, D-11I

=1 o &9 91 U TSl I9eTt ardn Bl gertad el
BT ?

(1) oty faaew

(2) <  ga™

(3) et sl yw

(4) omgEfits gaRT

Tt [ &t gdl 11 % @ gAfad wi—
T 1 T 11
. RS yeTEe §
R ES LS| TR §Y
C. EGIFCARIFECASE]
. THTEAS IV. WEREEIRT §Y
e faepedt & 981 IR 1 999 B
(1) A-II, B-II, C-1, D-IV
(2) A, B-1V, C-1, D-1IT
(3) A-1V, B-I, C-III, D-II
4) A-1V, B-II, C-II1, D-1

=1 § B Hela= ol T otaud T8l & 7
(1) daiofuy (2) @U®s
(3) e (4) wierh be|

o 1 el 1 35 v e it
T 1

T 11
. olfiRfed omsgE I Aems 375
qreT A SMEgs! II. YerEse
THIA Hiadh AEge! 1. foda g
. 3fay IV. Tausi-20
et fershed! & |ET ST @1 99 &
() A-L B-III, C-1V, D-II
(2) A-1V, B-I, C-I1, D-III
(3) A-III, B-I, C-IV, D-II
(4) A-IIIL, B-I, C-II, D-IV

L.

B. fpanlie safire
T

I1.

C. g eman 111

D. 3id:9a9 &Har IV.

L.
II.
II.

W >

)

o0 w»
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182

183

184

185

Which of the following is not a steroid hormone?
(1) Testosterone (2) Progesterone
(3) Glucagon (4) Cortisol

The following diagram showing restriction sites
in E.coli cloning vector pPBR322. Find the role of
‘X’ and ‘Y’ genes :

EcoR ]__\Cla I Hind IlI
T
Pvul o

%’Vu I
(1) The gene ‘X" is responsible for controlling
the copy number of the linked DNA and ‘Y’
for protein involved in the replication of
Plasmid.
The gene ‘X’ is for protein involved in
replication of Plasmid and ‘Y for resistance
to antibiotics.
Gene ‘X" is responsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance.
The gene ‘X" is responsible for resistance to
antibiotics and ‘Y’ for protein involved in
the replication of Plasmid.

)

3)

)

Which of the following is not a natural/traditional
contraceptive method?

(1) Periodic abstinence

(2) Lactational amenorrhea

(3) Vaults

(4) Coitus interruptus

Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent)

A. Homo habilis

B. Homo sapiens

C. Homo neanderthalensis

D. Homo erectus

Choose the correct sequence of human evolution
from the options given below :

(1) B-A-D-C (2) C-B-D-A

(3) A-D-C-B (4) D-A-C-B

The “Ti plasmid” of Agrobacterium tumefaciens
stands for

(1) Tumor independent plasmid

(2) Tumor inducing plasmid

(3) Temperature independent plasmid

(4) Tumour inhibiting plasmid
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181

182

183

184

185

e ¥ B BRigs s T8 & ?
(1) TREIA (2) wSETH
(3) eI (4) ®EE™

e feu 7o em@ & § s st @ared pBR322
% yfaeed wa i T E X wd Y SiH @ fie
T IaT @S

EcoR 1_,\(\?Ia I Hind Il
.

Pvu Il

S X st Sioea @Y g g & FEsr &
T Saer § 8iR Y 39 UIdE S @S @
gfaepfa & wftafad €1

S X S U S s br feefa H aftafd
¥ o Y wieaifae & wf wfeen

S X qgaT STehH % fiT STErl s we Y
gieratfee & i wfaiy & e o 21

S X wfeeiferes & i wfae & fog s
T o Y’ o1 UM S wihee % wiaeia o
giefed aid )

1 & B Y g fen/aaReTa eI ot
TE?

(1) smatys @aq

(2) WA A

(3) awe

(4) ®iged F7<d

T A e ol $B sTawTd & TS § 15! (YA °
) % TE BH H FARIT B |

A. gt fyaa

B. & dfiga

C. &t fgstdaufya

D. &Hl st

ot freheat & AT faeta & T2 B &1 999 B
(1) B-A-D-C (2) C-B-D-A

(3) A-D-C-B (4) D-A-C-B

g T ST % Ti @iteds &1 &1 §
(1) =R @ «eTs
(2) =TI W& WS
(3) TATEHH WA WIS
(4) =g SO wters

M

)
3)
)
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Zoology : Section-B (Q. No. 186 to 200) ‘

186

187

188

189

o0 wp

Match List I with List II :
List I

RNA polymerase 111 L.
Termination of
transcription
Splicing of Exons III. Rho factor
TATA box IV. SnRNAs, tRNA
Choose the correct answer from the options given
below :

(1) A-IIL, B-II, C-1V, D-1

(2) A-IL B-1V, C-I, D-II

(3) A-1V, B-II, C-I, D-II

(4) A-IL B-1V, C-1, D-lII

List IT
snRNPs

II. Promotor

Regarding catalytic cycle of an enzyme action,
select the correct sequential steps :

Substrate enzyme complex formation.

Free enzyme ready to bind with another
substrate.

Release of products.

Chemical bonds of the substrate broken.
Substrate binding to active site.

Choose the correct answer from the options given
below :

() AE,B,D,C
(3) E,D,C,B,A

Mmoo W

(2) B,A,C,D,E
(4) E’ A? D’ C? B

Choose the correct statement given below

regarding juxta medullary nephron.

(1) Renal corpuscle of juxta medullary nephron
lies in the outer portion of the renal medulla.

(2) Loop of Henle of juxta medullary nephron
runs deep into medulla.

(3) Juxta medullary nephrons outnumber the
cortical nephrons.

(4) Juxta medullary nephrons are located in the

columns of Bertini.

Given below are two statements :

Statement I : Mitochondria and chloroplasts are

both double membrane bound organelles.

Statement II : Inner membrane of mitochondria

is relatively less permeable, as compared to

chloroplast.

Inthe light ofthe above statements, choose the most

appropriate answer from the options given below :

(1) Both Statement I and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is

correct.

(4) Both StatementIand Statement Il are correct.
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186 T [ &t T 11 % @rer FAferd bl

187

188

189

A
B.
C

D

T T I
AT gietmeat I I snRNPs
SIIE Bl FHTIH . =&
TFID BT THGYT U BRH
. TATA st IV. SnRNAs, tRNA
e forehedt & T ST &1 99 B
(1) A-III, B-II, C-1V, D-1
(2) A-IIL B-1V, C-1, D-l
(3) A-1V, B-III, C-I, D-II
(4) A-IL B-1V, C-1, D-III

T UiEH fopanfatly o Sae! Ik & dav & el S
TIOT BT TG B

A. Teraream demgw |iwg &1 fHE

B. Y& USIEH &l 3 fpanam @ §e9 & fau
GRIEESEI

C. SdE! & JEA|

D. foramear & TEmaie §9 22 9 2

E. fpamem & afsha we ux demT

e forehedt & TE1 ST &1 99 B

(1) AE,B,D,C
(3) E,D,C,B,A

(2) B,A,C,D,E
4) E,A,D,C,B

qIi~=Teg HeAieT gaRpel | detad e Bl | w2l
1 T & |

(1) w@f~=res qegin gerbro] &l b STy Teed HeAIAT
% el ol ¥ B 2 |

TITEg TERTST JerbTV] BT ST TIST HEATST & TETS
EASISIRA

qif~=Tea AegisT Janp1y] aegperd JanlT] o it
T 8

T TEAieT anTY] ol & WH & Rerd

T 2

)
3)

)

I < poe fiw e 2

FoH 1 : GIBOTHN 3T AR I Qe FEreett
Sfera e |

H 11 : GIhTeRT BT 7ttt Fraree &t e &
STUATHA HH UTCT Bl 5 |

I QU 7T HUAT &b YbIeT § A qehed & q99 T2
I BN TIT B

(1) 3t %o 1 3R e 11 7Ted ¥ |

(2) ®uA 19§ Ale Hu 11 Tdd 7 |

(3) %9 17 & Afeh b 11 |l 2

(4) a9 B 1 iR w11 921 )

[ Contd...



190

191

192

A.

193

oOw>

Given below are two statements :

Statement I : Gause’s competitive exclusion
principle states that two closely related species
competing for different resources cannot exist
indefinitely.

Statement II : According to Gause’s principle,
during competition, the inferior will be eliminated.
This may be true if resources are limiting.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are false.
(2) Statement I is true but Statement Il is false.
(3) Statement I is false but Statement Il is true.
(4) Both Statement I and Statement II are true.

The following are the statements about non-
chordates :

A. Pharynx is perforated by gill slits.

B. Notochord is absent.

C. Central nervous system is dorsal.

D. Heart is dorsal if present.

E. Post anal tail is absent.

Choose the most appropriate answer from the
options given below :

(1) A, B&Donly (2) B,D&Eonly

3) B,C&Donly (4) A&Conly

Match List I with List II :

List I List IT
Exophthalmic I.  Excess secretion of
goiter cortisol, moon face &
hyperglycemia
Acromegaly II.  Hypo-secretion
of thyroid hormone
and stunted growth.
Cushing’s III. Hyper secretion
syndrome ofthyroid hormone &
protruding eye balls.
Cretinism IV. Excessive secretion

of growth hormone.
Choose the correct answer from the options given
below :
(1) A-1V, B-1l, C-1, D-II
(2) A-IIL, B-1V, C-1I, D-1
(3) A-IL, B-1V, C-1, D-II
(4) A-L B-III, C-II, D-1V

Match List I with List I :
List I List IT
Mesozoic Era I. Lower invertebrates
Proterozoic Era II. Fish & Amphibia
Cenozoic Era [II. Birds & Reptiles
Paleozoic Era IV. Mammals

Choose the correct answer from the options given
below :

(1) A-lI, B-I, C-II, D-1V

(2) A-L, B-II, C-1V, D-III

(3) A-II, B-1, C-1V, D-1I

(4) A-IL, B-L, C-1II, D-1V
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190

191

192

A.

B.

C.

D.

193

SO

I < wee feg U R

Fo 1 2 9 & W sqasiy fFsid & agar fafi=

e & fore @l < frebeaw afta e srdera

T A1 |1 &l & ol |

o 11 : T & fasia & orgar, el & a9a fge

gﬁwgﬁqaﬁ%lwwﬁw%mémm@ﬁa
|

U fau T e o webteT ® A U 1w faeedt | wEy

I BN TIT B

(1) < %A 1 iR B 11 eree 1

(2) ®uF 19 T AfepT A 11 o 2 |

(3) HUA | 3E ¥ AfehT B 11 9 1

(4) < HUA 1 R BuT 11 9 B |

T ST & fawg & HuF 3

A, TE FaH oz & fofea Bl @

B. US Ty Srgufted srar ¥

C. s dfe aF Yo el &

D. Zag af IuRerd Bt & @ S grar §
&1 99T Y5 STURY eIl &

ﬁwﬁaﬁq‘f@rw@raﬁwmww

(1) &a@ A,B3iRD (2) %aw B, DiRE
(3) ®aw@ B,C3ikD (4) ®aw AsiRC

Tl [t g 11 & a1 gafad #a—
LS

T 11
TS HICTAI ol ST
TS SAfreIsT Taradl
CINCARKI
iy figm

L.

ATZX(2S T &I 3T

v T 165 gig

A3 ETHA Bl 3l

T T I Y

SERIGED

herdl gfg TMH &
ST T

1 faseal & 91 IAX &1 999 A

(1) A-1V, B-II, C-1, D-1II

(2) A-II, B-1V, C-I1, D-1

(3) A-IIL B-1V, C-I, D-lI

(4) A-L B-III, C-II, D-1V

o 11 el 1 35 e e it
T

Ll
HSTIelgsh HeThed =1 armsEs
FIeSIIgh HEThed T 9 Uhifean
IS AeThed vell 9 gigy
Yfaeigs e [V, &waard
e foehedt & T ST &1 T B
(1) A-III, B-L, C-II, D-1V
(2) A-1, B-II, C-1V, D-III
(3) A-III, B-I, C-IV, D-II
(4) A-IL, B-I, C-III, D-IV

II.

IV.

L.
I1.
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List I List IT
Unicellular glandular 1.  Salivary glands
epithelium

Compound epithelium 1II. Pancreas
Multicellular III. Goblet cells of
glandular epithelium alimentary canal
Endocrine glandular ~ IV. Moist surface of

epithelium buccal cavity
Choose the correct answer from the options given
below :
(1) A-IV, B-III, C-I
(2) A-IIL B-1V, C-I, D-II
(3) A-IIL B-I, C-1V, D-III
4) A-Il, B-L, C-lII, D-IV
As per ABO blood groupmg system the blood

group of father is BT, mother is A" and child is
o+, Thelr respectlve genotype can be

-1, D-1I

A. IBi/TAi/ii B. IBIB/IAIA /i
C. TAB/iIA/1IBi D. TAi/IBi/T1A
E. iIB/ilA/TAIB

Choose the most appropriate answer from the
options given below :

(1) Bonly (2) C&Bonly

(3) D&Eonly (4) Aonly

Match List [ with List Il related to digestive system
of cockroach.

List I List IT
The structures used I.  Gizzard
for storing of food.

Ring of 6-8 blind II. Gastric
tubules at junction of Caeca
foregut and midgut.

Ring of 100-150 yellow  III. Malpighian
coloured thin tubules
filaments at junction of

midgut and hindgut.

The structures used IV. Crop
for grinding the food.

Choose the correct answer from the options given
below :

(1) A-L B-II, C-III, D-IV

(2) A-1V, B-III, C-II, D-1

(3) A-IIL B-II, C-1V, D-I

(4) A-IV, B-IL, C-1II, D-I

Given below are two statements :

Statement I : Bone marrow is the main lymphoid

organ where all blood cells including lymphocytes

are produced.

Statement II : Both bone marrow and thymus

provide micro environments for the development

and maturation of T-lymphocytes.

Inthe light ofthe above statements, choose the most

appropriate answer from the options given below :

(1) Both Statement I and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is

correct.

(4) Both StatementIand Statement Il are correct.
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194

A.

195

196

197

Tl 1 ot g 11 & a1 gafiad sa—

T 1 T 11
Tehbl13Tehid e I« vt
1.

II.

S IEIND]

JATETT TS Dl

HAIT BITITBIT
siq-wrer W@ Sumen V. @ TR 6l 99 9a8

ﬁﬁr faeredi & & ST BT TUT B

(1) A-1V, B-1II, C-I, D-1I

(2) A-IIL B-1V, C-I, D-II

(3) A-II, B-1, C-1V, D-lII

4) A-I, B-1, C-III, D-IV

ABO %X & gomrelt % STar fuar @1 iR ot BT,
ATl BT AT 3T s &1 O 3 1 39 AT SWHIEEY &
gohd &

A. IBi/TAi/ii

C. TAIB/iIA/1Bj
E. iIB/ilA/IAIB
= faepedl & 99 981 S &1 99 B

(1) %@ B (2) %a@ C 3 B
(3) @ DSRE (4) Fad A

foaaee & uraw o= & dafaa gt [ g2 1 & a@rg
AT BU—
=11
ooy

T

Qo FUfsd & & [T Su=m
T 1ol ST | |

ST 9 HETS o WiRId 9
6-8 3ier AfTehTIaT &l Iy

e o YT o WA T
100-150 9t 41 % gaet gl

B TAT

ST ! 9rE & fog
ReplukrGEILY

=1 faedl & 9E 39 &1 99 &
(1) A-1, B-II, C-III, D-IV

(2) A-1V, B-III, C-I1, D-1

(3) A-II, B-II, C-1V, D-1

(4) A-1V, B-1I, C-II, D-I

I &1 e fou o E:

o | : AR FooT JEd THIGH o & el AU
afed gl T SN Sanfad e ¥ |

o 11 2 I1 1Ry woeT Ud a1g9d -y &
T wd uftuees & T ged ararer ya=
HIAT 2|

I fau 7T AT &b webter F A fasedt & qaifus
TR IR BT TIT B

(1) 3t %o 1 3R %o 11 Terd |

(2) ®9 192§ wied Ha 11 7Tdd 2|

(3) %9 17 & Afeh b 11 Gl 2

(4) A B 1 iR Ho 11 72 ¥

IBIB / TAIA /i
1A/ 1Bi /1A

B.
D.
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Given below are two statements :

Statement I : The cerebral hemispheres are

connected by nerve tract known as corpus

callosum.

Statement II : The brain stem consists of the

medulla oblongata, pons and cerebrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is

“4)

Identify the correct option (A), (B), (C), (D) with

correct.
Both Statement I and Statement Il are correct.
respect to spermatogenesis.

GnlliH
[ |

LH (A)
\2 2
®) ©
\’ \’
Androgens Factors

\ \

Formation of spermatids (D)

(1) ICSH, Interstitial cells, Leydig cells,
spermiogenesis.

(2) FSH, Sertoli cells, Leydig cells,
spermatogenesis.

3)

C))

ICSH, Leydig cells, Sertoli cells,
spermatogenesis.

FSH, Leydig cells, Sertoli cells,
spermiogenesis

Match List [ with List II :
List I
P wave I.

List IT

Heart muscles are
electrically silent.
Depolarisation of
ventricles.
Depolarisation of
atria.
Repolarisation of
ventricles.
Choose the correct answer from the options given
below :

(1) A-III, B-II, C-1V, D-I

(2) A-IL B-III, C-1, D-IV

(3) A-1V, B-II, C-I, D-III

(4) A-I, B-III, C-1V, D-II

QRS complex II.

T wave I1I.

T-P gap IV.
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A.

T <1 woe fgg o R

o 1« yfrsss T, dfrest 92l &1 93 8 &
HUE HATaH Bed & |

w11 : Ao &9 § Aege sigariter, aid sfit
s armd )

TR U U el & yeer ® Fre faeedl & a9 @
IR BN TIT B

(1) 3t %o 1 3R %o 11 TTerd & |

(2) ®uF 19§ Ale Hu 1116 7 |

(3) %y 1 7o & wfeh b 11 Gl 2|

(4) < B 1 &R B 1192 B

ket & &aH H (A), (B), (C), (D) % T2 faaved &
el |

[ |
)
l
©
!
DI{ch
!
TR bl foaier )

AT
FENER]
FENER]
LTS

Tl 1 o1 gl 11 & a1 gAfad si—

Tl Tl

P Tt . &g Uit fagaa
9T Bt &

1. et & fagam

11. smferar &1 fageo

V. feal & gagaw

%1 T B

A-II1, B-II, C-1V, D-I

A-IL, B-I1, C-1, D-IV

A-1V, B-II, C-I, D-III

A-1, B-II, C-1V, D-II

M
)
3)

)

QRS gftag

Tar

. T-P3y

1 faseal € 981 3O
(D
(2)
3)
4)
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fFefofae HEsT ear7 @ a2 -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

T TR 89X, gdeedt et/ sid Se ¥ gd ST
U (g ufaferty us shraies giatara ) shey FHideres
ohT TG WU S | Tdamedt 797 Trer wo giedeht oFf 5
e B

39 gfaert o1 Heha & R61 oE gfafyea ot e fan
T GahT ol Hohd, IAL TR oh Jo1 Afdfoiia ag a1
T Hehd | fherar €1 e Ig fust 2 ot wdameff gud
e giadet 3R SR U3 o1 & fag fdes i i
TS AW |

Tiremedf gifeea i foh 39 S 9= =01 Arer 7 S
IH W 377 T2 9 e | qleqeft s1aen STk
¥ gfkenl/Ia 99 § Fuifa Tum & sifafed s==
=1 ferd |

I 9 W frdft ghR & HeeE Y =R KES F
TART St AT T 2 |

IS 9 W Y glanefl, et =1 79 gae-ua
fe@md |

g arefteren a1 e w1 foR e1gafa & foa =8
Thefeft ST T A B |

HE@ e &1 e19A1 3w U feu faqr wa
Iufkerfd-—us/es 9 g saR (T % 91) feRg
fomr g adeneff gdan sfa &1 |t afe feer
gitgrrell § gET IR SufEeIfd-usah UX e TE@
ferT ot o AT ST foh Sae AU @ e g
SR TE o |rer Sht JIHET WET ST |
I eh / BXA=TeId Uiisheteh hl SUANT Afid B |
T{eT-ReT/ BT W A0 o fag udemedl, adem &
i wd faframi gro frafaa € sfea wem &
goft A =1 aen 59 Tdet o i wd fafazdi &
SR EN

feret TromTa & uder gfcent i SR U &t &g
W ST AR

et gRent / AU | fau T gden gRent Seohd &l
Tdaneff T aler ¥ sufeafa-uwe § foag |

A = 9 fire @t srafy &l alien % fag o g
Ut fFe @1 gfaqie @9 Yo fear s, 9
g eredt (S ferew & fou smdife &0 @ ergem
1), BhIES BT IUART HIAT & a1 Tel |

6.

~]

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet isR6. Make sure
that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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